
https://t.me/mathsbyadityaranjan


 S.No.  LINK

1. RPF  - 01 CLICK HERE

2. RPF  - 02 CLICK HERE

3. RPF  - 03 CLICK HERE

4. RPF  - 04 CLICK HERE

5. RPF  - 05 CLICK HERE

6. RPF  - 06 CLICK HERE

7. RPF  - 07 CLICK HERE

8. RPF  - 08 CLICK HERE

9. RPF  - 09 CLICK HERE

10. RPF  - 10 CLICK HERE

INDEX





Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected Selection 1

Aditya Ranjan Sir

1.

3
10

Half the difference between the amount of salaries

of Sushant and Prashant is equal to 
3

10
 of the sum

of their salaries. With reference to the salary of

Sushant, show the salary of Prashant.

(a) 20% (b) 25%

(c) 33.33% (d) 10%

2.

A bulb manufacturing company found 13% of the
total products defective, if the total number of non
defective products is 4785, then find the total

number of defective products.

(a) 720 (b) 710

(c) 715 (d) 705

3. 1710

By selling a pendrive for 1710, a shopkeeper
incurs a loss of 24%. Find the cost price of the

pendrive for the shopkeeper. (in )

(a) 2250 (b) 2200

(c) 2275 (d) 2150

4. X

Y X

Y

A trader makes a profit of 30% by selling an article
X and makes a loss of 16% by selling another article
Y. If the ratio of cost price of X and Y is 3 : 4, then
what is the profit/loss (correct to one decimal place)
in the whole transaction?

(a) 4.8% (b) 3.7% 

(c) 3.9% (d) 4.5% 

5. A

A sells an article at a discount of 20% on the
marked price. If the marked price is  1200, then
what is the selling price of the article?

(a)  1020 (b)  1080

(c)  940 (d)  960

6.

The printed price of a book is Rs.700. The book
manufacturer has given a discount of 10% on it.
What will be the original cost (in Rs.) of the books if

he still earns 20% profit?
(a) 515 (b) 525
(c) 535 (d) 545

7. 22150 29% 9

Find the amount under simple interest on 22150
at 29% per annum for 9 years. ( in )

(a) 79961.5 (b) 79971.5

(c) 79951.5 (d) 79981.5

8.

Any amount doubles itself in 3 years at compound
interest. In how many years will it become 32 times
itself?

(a) 16 (b) 12 

(c) 15 (d) 14 

9.

An amount of  250000 was deposited for 3 years
at 4%, 5% and 6% respectively for the first, second
and third years compounding annually. What will be

the amount at the end of three years?

(a) Rs.2,56,590 (b) Rs.3,01,400

(c) Rs.3,25,680 (d) Rs.2,89,380
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10.

Find the total amount received by depositing
Rs.8,200 at 12% simple annual interest for 4 years?
(in Rs.)

(a) 12,156 (b) 12,146

(c) 12,166 (d) 12,136

11.  

Rishika and Akash invested some money each in a
partnership. Rishika had invested Rs.1875 and took
Rs.225 as his share from the profit made. If Akash
took Rs.288 as his share of the profit made, then
how much had Akash invested?

(a) 2475 (b) 2500 

(c) 2400 (d) 2250 

12. 28000 

48000 

Ajith started a business with Rs. 28000 and is
joined afterwards by Bharat with Rs.48000. After
how many months did Bharat join if the profits at
the end of the year divided equally?

(a) 4 (b) 6

(c) 7 (d) 5

13.
a c e 2

= = =
b d f 3

2 2 2

2 2 2

2a – 3c +4e

2b – 3d +4f

If 
a c e 2

= = =
b d f 3

, then find the value of

2 2 2

2 2 2

2a – 3c +4e

2b – 3d +4f
?

(a) 4 : 9 (b) 2 : 5

(c) 3 : 8 (d) 1 : 6

14. 2P = 3Q = 5R P + Q + R = 6200, P

R

If 2P = 3Q = 5R and P + Q + R = 6200, then the
difference between P and R is:

(a) 3000 (b) 2000

(c) 1200 (d) 1800

15.

In what ratio should wheat costing  8.30 per kg
be mixed with wheat of  9.80 per kg so that the
cost of the mixture obtained is  9 per kg?

(a) 8 : 7 (b) 6 : 07

(c) 7 : 09 (d) 9 : 08

16.

A solution consists of 50 litres of pure milk. 10
litres of milk is replaced with equal quantity of
water. Again 10 litres of the mixture is substituted
by 10 litres of water and this operation is repeated
one more time. Find the quantity of milk in the
final solution.

(a) 25 litres (b) 25.6 litres

(c) 25.4 litres (d) 25.2 litres

17.

The average weight of 50 students in a class is 52
kg. If the average weight of the first 25 students is
50 kg and that of the next 24 students is 54 kg, then
find the weight of the last student.

(a) 56 (b) 58 

(c) 45 (d) 54 

18.

The average age of 30 men is 25 years. 5 new men
of an average age of 30 years joined them. Find the
average age of all the men put together.

(a) 
5

26 years
7

(b) 
5

27 years
7

(c) 
5

25 years
7

(d) 
5

28 years
7

19. A B

A can finish a work in 102 days and B can do the
same work in 153 days. Working together, they will
complete the same work in how many days?

(a) 57.5 (b) 61.2

(c) 59.2 (d) 55.2

              BACK TO INDEX



Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected Selection 3

20. A B A
B

The ratio of the working efficiencies of A and B is
3 : 4. If A can do a piece of work in 12 days, then
in how many days will B take to complete the same
work?
(a) 16 days (b) 18 days
(c) 9 days (d) 12 days

21. A, 840 
B, 1050 

Pipe A can fill a tank in 840 minutes and Pipe B
can empty the same tank in 1050 minutes. If both
pipes are opened together, how many hours will it
take to fill the empty tank?

(a) 74 (b) 72 

(c) 70 (d) 68 

22.
5
4

Reema runs 
5
4

 times as fast as Rekha. In view

of this Reema allows Rekha a lead of 50 metres
to Rekha in a friendly race competition. What
is the distance from the starting point where both
Reema and Rekha meet?

(a) 200 (b) 225 

(c) 240 (d) 250 

23. 61 65 
100 

65 

If a man drives at 65 kmph instead of 61 kmph,
he had travelled 100 kms more. Find the distance
travelled by him when he travels at 65 kmph. (In
km.)

(a) 1725 (b) 1625

(c) 1525 (d) 1825

24.

A dog takes 5 leaps for every 6 leaps of a hare, but
4 leaps of the dog are equal to 5 leaps of the hare.
The ratio of the speed of dog and hare is?
(a) 16 : 24 (b) 24 : 16
(c) 25 : 24 (d) 24 : 25

25. 1000 km

The ratio of time taken by Binoy and Cairo to cover
a distance of 1000 km is 15:16. Find the ratio of

their speeds.

(a) 16 : 15 (b) 12 : 13

(c) 14 : 17 (d) 19 : 18

26. A B

In a circular race of 1200 m, A and B start from the
same point, at the same time with speeds of 27 km/
h and 45 km/h, respectively. After how much time will
they meet for the first time on the track when they

running in the same direction?

(a) 220 second/ (b) 180 second/

(c) 200 second/ (d) 240 second/

27.

It takes 8 hours for a rower to cover a distance of
60 km upstream of a river while it takes 5 hours
to cover the same distance downstream. What will
be the speed of the rower in stagnant water.

(a) 9.25 (b) 9.80 

(c) 9.75 (d) 9.5 

28. n (34n – 43n)

If n is any positive integer, then (34n – 43n) is always
divisible by:

(a) 7 (b) 17

(c) 112 (d) 145

29.

Which of these numbers is divisible by 15?

(a) 43642650 (b) 42642650

(c) 45642650 (d) 44642650

30.

LCM

The product of 2 numbers is 1890 and the numbers
differ by 3. Find the LCM of the numbers.

(a) 450 (b) 540

(c) 720 (d) 630
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31.

1 1 1 1 1
+ + + +

1×4 4×7 7×10 10×13 13×16

Find sum of the series

1 1 1 1 1
+ + + +

1×4 4×7 7×10 10×13 13×16

(a)
1
32

(b)
7

16

(c)
5

16
(d)

1
210

32.

   
   

   

1 1 1 1 7
3 ÷ 1 – + +

2 4 2 3 5

Simplify:

 
   

   
   

1 1 1 1 7
3 ÷ 1 – + +

2 4 2 3 5

(a) 5 (b) 7

(c)
4

9
5

(d)
5

8
6

33.

A wall 18m long, 10m high and 40 cm wide is to be
constructed using bricks of dimensions 30cm, 15
cm and 10 cm. How many bricks (in thousands) will

be required?

(a) 14 (b) 16000

(c) 16 (d) 14000

Directions: Look at the following picture and answer
the questions given below.

Study the table carefully and answer the questions
given below. Total sales of different mobiles for three
different years (in million)

2010-2011 2011-2012 2012-13

/Samsung 18 36 75

/Nokia 108 81 105

/Sony 24 32 60

/Blackberry 28 42 70

/Micromax 34 17 85

34.

What is the average number of mobiles sold by all
the five companies in the year 2012-2013?

(a) 77 (b) 78

(c) 73 (d) 79

35.

In how many companies, there is at least 50%
increase or decrease in the number of mobiles sold
in the year 2011-2012 as compared to the year 2010-
11?

(a) 1 (b) 4

(c) 3 (d) 2

ANSWER KEY
1.(b) 2.(c) 3.(a) 4.(b) 5.(d) 6.(b) 7.(a) 8.(c) 9.(d) 10.(d)

11.(c) 12.(d) 13.(a) 14.(d) 15.(a) 16.(b) 17.(d) 18.(c) 19.(b) 20.(c)

21.(c) 22.(d) 23.(b) 24.(c) 25.(a) 26.(d) 27.(c) 28.(b) 29.(a) 30.(d)

31.(c) 32.(c) 33.(b) 34.(d) 35.(c)
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1. (b)

 S P 

,


S – P 3

2 10
 (S + P)

5S – 5P = 3S + 3P

S 4

P 1
 

P = 
1

S
4



1

4
= 25%

2. (c)
= 13%

= 87%

=
4785

13
87

 = 715

3. (a)

= 100%

= 100 – 24

= 76%
76% = 1710

1% = 
1710 45

76 2


100% = 
45

2
× 100

=  2250

4. (b)
3       :       4

+30%      :      – 16%

= 
3 30 –16 4

3 4

 
 =

26

7
%  3.7 %

5. (d)

(M.P.) = 1200

M.P. × 
1100 – D

S.P.
100



(S.P.) = 1200 ×
80

100

=  960

SOLUTIONSSOLUTIONS

6. (b)

= x

100 –

100
  



100 –10

100 20 700



x


90

120 700


x

x = 525 

= 525 

7. (a)

= 100%

= 29%, = 9 

= (  × )%

= 29 × 9 = 261%

= + 

100% + 261%  = 361%

100% 22150

22150
361% 361

100
  

= 79961.5

22150 29 9
22150 +

100

 
= 79961.5

8. (c)

15 

9. (d)

= 250000  =

= 4%, 5%, 6%

 3 

= a + b + c + 
ab bc ca

100

 
 + 

abc

10000

= 4 + 5 + 6 + 
4 5 5 6 6 4

100

    
 + 

4 5 6

10000

 
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= 15 + 
20 30 24

100

 
 + 

20

10000



= 15.752%

= 100 + 15.752%

= 115.752%

 100% = 250000

115.752%

= 
250000

100%  × 115.752%

 = 289380 

   

104 105 106
25000

100 100 100
289380

  



SMART APPROACH:- 

:-

7 3

105

(7 × 15)

10. (d)

(Amount) = 8200

+ 
8200 12 4

100

 

= 8200 + 3936 = 12136 

11. (c)

  :

225 : 288

25 : 32

(32)  = 
1875

32
25



= 75 × 32 = 2400  

12. (d)

 = × 

28000 12 1

48000 T 1

 


T = 7 

B 12 – 7 = 5 

13. (a)

,

2

3

a c e

b d f
  

,

2 2 2

2 2 2

2 – 3 4

2 – 3 4

a c e

b d f


 = 

     
     

2 2 2

2 2 2

2 2 – 3 2 4 2

2 3 – 3 3 4 3




= 
2

2

2 2 – 3 4

3 2 – 3 4

 
  

 = 
4

9

14. (d)

2P = 3Q = 5R = k

P = 
2

k
, Q = 

3

k
, R = 

4

k

  P  :  Q  :  R     Total

15  : 10  :  6 31 

,

P + Q + R = 6200

31  6200

(P – R)  = 9  
6200

31
× 9  = 1800

15. (a)

9

8.3 9.8

0.8 0.7

Type-I Type-II

 = 8 : 7

16. (b)

1 –
x

 
 
 

 
  

310
= 50 1 –

50
 

4 4 4
= 50 ×

5 5 5

128
=

5
= 25.6 

17. (d)

= – +

= (50 × 52) – (25 × 50 + 24 × 54)
= 54 

18. (c)

 = 25 + 
(30 – 25) 5

(30 5)


  = 25 +  

25

35
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= 
5

25
7

 

30 × 25 + 30 × 5 = 750 + 150 = 900

= 
900

30 5
 = 

5
25

7
19. (b)

(102, 153  = 306)

A
102

C
153

306

3 2

A  C

=

306 306
61.2

3 2 5
 



20. (c)

A : B = 3 : 4 ( )

A  = 3 × 12

= 36

B   = 
36

4

= 9 

21. (c)

840, 1050 = 4200

4200 

A
840

C
1050

5 – 4 

= 

= 
4200 4200

5 4 1 60


   = 70 

22. (d)



 



23. (b)

  

= 61 : 65

 (65 – 61) = 4    100 

1   25 

 65 × 25 = 1625 

24.  (c)

5      :      6

4      :      5

25    :    24







25. (a)


1

  = 15 : 16

= 16 : 15

26. (d)

 = 1200 .

 = (45 – 27)

= 18 

 = 
1200 18

18 5


= 240 

27. (c)

= 
60

8
 = 

15

2

= 
60

5
 = 12 
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= 
D U

2


 = 

12 7.5

2


 = 

19.5

2

= 9.75 

28. (b)

 n 

n = 1 (1 )

(34n – 43n)

= (34 × 1 – 43 × 1)

= 34 – 43 = 81 – 64 = 17

n (34n – 43n)

17

29. (a)

divisibility rule:

But



=
4 3 6 4 2 6 5 0 30

3 3

       

(a)

30. (d)

A × B = 1890

A – B = 3

A = 3 + B

,

(3 + B) B = 1890

3B + B2 – 1890 = 0

B = 42

 A = 45

 42  45  = 630

(A × B) 

1890  (d) 630 

 A  B  = 630.

31. (c)

1 1 1 1 1

1 4 4 7 7 10 10 13 13 16
   

    

= 
1

1

1

16


= 4 – 1 = 3

1
( – ) 

= 
1 1 5

1
3 16 16

 
  

  

32. (c)

1 1 1 1 7
3 1 –

2 4 2 3 5

        
   

 = ?

  
7 5 5 7

–
2 4 6 5

       

= 
7 5 7

2 12 5
    

 = 
7 12 7

2 5 5
    

= 
49

5
 = 

4
9

5

33. (b)

n

n × 30 × 15 × 10

= 1800 × 1000 × 40

n = 
1800 1000 40

30 15 10

 
 

= 16000

34. (d)

 = 
75 105 60 70 85

5

   
 = 79

35. (c)

2010  2011 2011 – 2012

%

= 
36 –18

100
18

  = 100%

%

= 
108 – 81

100
108

  = 25%

%

= 
32 – 24

100
24

  = 33.3%

%

= 
42 – 28

100
28

  = 50%

%

= 
34 –17

100
34

  = 50%
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Aditya Ranjan Sir

1.

The length, breadth and height of a room in the shape
of a cuboid are increased by 10%, 20% and 25%
respectively. Find the percentage change in the
volume of the cuboid.

(a) 65% increase/ (b) 60% decrease/

(c) 70% decrease/ (d) 75% increase/

2. 582 x% 15% = 17.46 'x'

If 15% of x% of 582 = 17.46, then find the value of 'x'.

(a) 25 (b) 10

(c) 20 (d) 2

3.

12.5% 

A shopkeeper sells a product for Rs 729 and earns
a profit of 12.5% on it. Half of the purchase price of
that item will be equal to how many rupees?

(a) Rs.262 (b) Rs.648

(c) Rs.482 (d) Rs.324

4.

If the cost price of 2120 articles is equal to the
selling price of 1696 articles, then what is the gain
percent?

(a) 15% (b) 20%

(c) 30% (d) 25%

5. % %

A trader sells the article after two successive
discounts of 23% and 24% respectively. If the
marked price of the article is Rs. 21400, find the
selling price.

(a) 12523.28 (b) 13523.28

(c) 14523.28 (d) 15523.28

6.

If a shopkeeper increases the purchase price of an
item by 48% and after marking it, gives a discount
of 48% on its sale, then find out the total percentage
profit or loss incurred by him?

(a) 22.80% (b) 22.84% 

(c) 23.40% (d) 23.04% 

7. 9 23%  21550 

Find the amount under simple interest on  21550 at
23% per annum for 9 years (in )

(a) 66158.5 (b) 65158.5

(c) 67158.5 (d) 68158.5

8.

Find the total amount received by depositing

Rs.8,800 at 12% simple  interest for 4 years? (in Rs.)

(a) 11,034 (b) 12,034

(c) 13,024 (d) 14,024

9. 20%

2 

 2464   

A sum of money is invested at 20% per annum
compounding annually for 2 years. If the interest
received is  2464, find the principal. (In )

(a) 5300 (b) 5400

(c) 5500 (d) 5600

10.

Johnson borrows 30,000 at 5% compound interest
per annum. He wants to pay this amount back by
the end of 2 years in two equal yearly installments.
How much does he have to pay approximately at
the end of each year?

(a)  16,134 (b)  15,231

(c)  16,274 (d)  15,784

11.

1 : 2
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Ravi and Rashmi invested Rs. 150 and Rs. 200
respectively in a business but Ravi withdraw his
money after a few months. If the end of twelve
months' profit was shared between Ravi and Rashmi
in the ratio 1 : 2, after how many months did Ravi
take out his money?

(a) 4 (b) 6

(c) 8 (d) 10

12. 8  5

Avinash and Bhuvanesh started a partnership business
investing some amount in the ratio of 8 : 5. Rakesh
joined them after six months with an amount equal
to Bhuvanesh. In what ratio should the profit at the
end of one year be distributed among Avinash,
Bhuvanesh and Rakesh?

(a) 5 : 10 : 16 (b) 16 : 5 : 10

(c) 10 : 16 : 5 (d) 16 : 10 : 5

13. A, B C 3 : 5 : 7 

C 49000 A B 

A, B and C share the cash prize among themselves
in the ratio 3 : 5 : 7. If C gets Rs 49000, then find
the total amount received by A and B together.

(a) 65,000 (b) 44,000 

(c) 80,000 (d) 56,000 

14.

Two numbers are more than a third number by 8%
and 28% respectively. What is the ratio of those two
numbers?

(a) 27:32 (b) 2:7

(c) 5:6 (d) 5:9

15. A

B

In what ratio should telcum powder A of 3 rupees
20 paise per kg be mixed with telcum powder B of
2 rupees 90 paise per kg so that the cost price of
the mixture becomes 3 rupees 8 paise per kg?

(a) 2 : 1 (b) 4 : 5

(c) 3 : 2 (d) 5 : 5

16.

In a bag of rice of Rs 70 per kg, two different types
are mixed. First type of rice is 8 kg in quantity of
Rs 60 per kg, while the second type of rice is 4 kg
in quantity. What is the price per kg of the second
type of rice?

(a) Rs. 75 (b) Rs. 65

(c) Rs. 80 (d) Rs. 90

17.

For three consecutive years, the costs of a product
were Rs.122 per litre, Rs.244 per litre and Rs. 305
per litre respectively. If a common man spends an
average of Rs. 13420 per year on that product, then
what is the average cost of that product per litre
for the three years? (in Rs.)

(a) 192.63 (b) 212.63

(c) 202.63 (d) 182.63

18.

The average weight of 10 workers travelling in a
boat is increased by 2.8 kg when one of the
workers, whose weight 58 kg, is replaced by a new
worker. Find the weight of the new worker.

(a) 86 kg (b) 84 kg

(c) 82 kg (d) 68 kg

19.

2 men and 3 women can earn Rs. 49 in 7 days. 3
men and 6 women can earn Rs. 96 in 8 days. In what
time 1 man and 1 women earn Rs. 27?

(a) 9 days (b) 8 days

(c) 10 days (d) 7 days

20. A B

C

B C

A can do a piece of work alone in 32 days, while
together with B she can do the work in 24 days. If
C alone can do the work in 64 days, in how many
days can B and C together do the work?

(a)
2

38
5

days (b)
3

38
5

days

(c)
4

37
5

days (d)
4

38
5

days
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21.

Two pipes fill the tank in 711 minutes and 1185
minutes. There is also a leak pipe in the tank.
When all the three are opened, the empty tank is
filled in 474 minutes. How many minutes will the
leak pipe take to empty the tank?

(a) 6910 (b) 7110

(c) 7210 (d) 7010

22.

A man reaches his office 20 min late, if he walks
from his home at 3 km per hour and reaches 30
min early if he walks 4 km per hour. How far is his
office from his house ?

(a) 20 (b) 16 

(c) 14 (d) 10 

23.

A train runs at a speed of 33 m/s and it crosses a
signal in 11 seconds. Then find the length of the
train. (in meters)

(a) 363 (b) 353

(c) 373 (d) 343

24.
10
11

Tellyn moves at a speed of 
10
11

 of normal speed

and takes 13 minutes more than normal time. Find
the usual time taken

(a) 130 mins (b) 120 mins

(c) 140 mins (d) 150 mins

25.

X,

Y Y,

A 345 m long train X running at 50km/h crosses a
train Y traveling in its opposite direction with a
speed of 76 km/h in 22 sec. In what time will train
Y cross the 905 m long bridge ?

(a) 52 (b) 54 

(c) 63 (d) 56 

26.

In a linear race of 1000 m, Saloni beat Shweta by
100 m, while Shweta beat Sonam by 150 m. By how
many metres does Saloni beat Sonam, in the same
race?

(a) 220 /m (b) 250 /m

(c) 225 /m (d) 235 /m

27.

3:1

A boat can cover a distance of 56 km downstream
in 3.5 hours. The ratio of the boat in still water and
the speed of stream is 3:1. How much time (in
hours) will the boat take to cover a distance of 41.6
km downstream?
(a) 2.6 (b) 2.1
(c) 1.5 (d) 1.8

28. 4- 10,

11, 20, 22 8 

Find the smallest 4-digit number which if divided by 10,
11, 20, 22 leaves remainder as 8.
(a) 1110 (b) 1108
(c) 1092 (d) 1100

29.

What is the greatest number by which dividing 2675
and 2320 leaves remainder 5 and 6 respectively ?

(a) 168 (b) 187
(c) 178 (d) 170

30. LCM N

LCM 

If the LCM of the first 110 natural numbers is N,

then find the LCM of the first 115 natural numbers.

(a) 111×112×113×114×115N
(b) 113N
(c) 115N
(d) 111×113N

31.
1 1 1 1 1 1 1 1

+ + + + + + +
2 6 12 20 30 42 56 72

(a)
1
2

(b) 0

(c)
8
9

(d)
1

2520

32.
2 2 2

2 2 2

(0.0002) +(0.0033) +(0.0444)
(0.00002) +(0.00033) +(0.00444)

Find the value of

2 2 2

2 2 2

(0.0002) +(0.0033) +(0.0444)
(0.00002) +(0.00033) +(0.00444)

(a) 100 (b) 80

(c) 90 (d) 110
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33.

The length of a pool is 15m, breadth 10 m and
depth is 3 m. It is filled with water to a depth of
2.5m. What is the quantity (in kilo liters) of water
in the pool?

(a) 450 (b) 370.5

(c) 475 (d) 375

(34-35):-

Directions: Read the following information and
answer the following questions:

The company manufactures five types of shirts
using high, medium and low, three quality fabrics
and three colors high, medium and low -

A, B, C, D E

A, B, C, D and E. The following table details are given
respectively-

1.

Shirts produced in thousands in each category

2.

Percentage of Textile Quality Distributed for each type
of shirt. Each shirt requires 1.5 meters of cloth.

%
Distribution of cloths (%) 

% /
Distribution of colors (%) 

Type 
of 

Shirt 

 Number in 
thousands 

/ 

High 

/ 

Medium 

/ 

Low
/ 

High 

/ 

Medium 

/ 

Low

A 20 80 20 – 70 15 15 

B 30 30 40 30 20 50 30 

C 30 –  70 30 – 60 40 

D 10 –  60 40 - 40 60 

E 10 – 10 90 – 20 80 

34.

What is the total requirement of clothes?

(a) 200000 (b) 150000 

(c) 225000 (d) 250000 

35.

How many meters of low quality cloth was used?

(a) 22500 (b) 60000 

(c) 46500 (d) 40000 

ANSWER KEY
1.(a) 2.(c) 3.(d) 4.(d) 5.(a) 6.(d) 7.(a) 8.(c) 9.(d) 10.(a)

11.(c) 12.(d) 13.(d) 14.(a) 15.(c) 16.(d) 17.(a) 18.(a) 19.(a) 20.(a)

21.(b) 22.(d) 23.(a) 24.(a) 25.(c) 26.(d) 27.(a) 28.(b) 29.(c) 30.(b)

31.(c) 32.(a) 33.(d) 34.(b) 35.(c)
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1. (a)

10% 10 11

20% 5 6

25% 4 5





40 66

+26

 = 
26

40
× 100 = 65% 

2. (c)

582 × 
15

100 100
x

 = 17.46

x =
1746 100

15 582




x = 20

3. (d)

 (Profit) = 12.5%

 (SP) = 100 + 12.5 = 112.5%

 112.5% = 729

1% = 
729

112.5

50% = 
729

50
112.5

  = 324 

4. (d)

= 1 

 > 


2120 – 1696

100
1696

 

= 
424

100
1696

  = 25%

5. (a)

(M.P.) = 21400

M.P. × 21 100 – D100 – D
S.P.

100 100
 

21400 ×
100–23 100–24

S.P.
100 100

 

(S.P.) = 21400 × 
77 76

100 100
  =  12523.28

6. (d)

SOLUTIONSSOLUTIONS

= 48 – 48 – 
48 48

100



= –23.04

% =

7. (a)

= 9 = 23%, =  21550

= 21550 + 
21550×23×9

100

= 44608.5 + 21550

=  66158.5

8. (c)

(Amount) = 8800 + 
8800 12 4

100

 

= 8800 + 4224

= 13024

9. (d)

2 

= 20 + 20 + 
20 20

100



= 40 + 4 = 44%

44% 

44% = 2464


2464

100% 100
44

 

616
100

11
 

= Rs 5600 

10. (a)

P = 30,000   , R = 5% = 
1

20

T = 2 

I 

II 

(20 21)×21

400 441

:

:

:820 882
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820 30,000

30000
441 441

820
16134



 



11. (c)

x  

150 × x : 200 × 12 = 1 : 2

150 1

200 12 2






x

x = 
200 12

150 2





x = 8 

8

12. (d)

I   =  8    5   5

T  =  ×12  ×12  ×6
P  =  96   60  30
        16   10   5

 = 16 : 10 : 5

13. (d)

A, B C 3 : 5 : 7

C 49000 = 7

1 = 7000 

(A + B)8 = 56000 

14. (a)

  I :   II :  III
108 : 128 : 100
 27   :     32 : 25

= 27 : 32

15. (c)

= 308 

320 290

308

18 12
3 : 2

A B

320 290y = 308 ( + y)

12 =18y

3
2

x x

x

x

y




 

x : y = 3 : 2

16. (d)

70 Rs

1020 :

60 Rs./kg 90Rs./kg

I II

12 :

48 :

17. (a)

13420 13420 13420

122 244 305
  

= 110 + 55 + 44 = 209

= 13420 × 3 = 40260


40260

192.63
209

 

18. (a)

= 58 + 2.8 × 10

= 58 + 28  = 86

19. (a)

   2M + 3W × 7 3M + 6W × 8
=

49 96

M 2
=

W 1
( )

,

,

   2M + 3W × 7 M + W × D
=

49 27
2


  24 + 3 × 7 3 × D

=
49 27

D
2
 = 9 

20. (a)

6

8

3

192

A = 32

C = 64

A + B = 24
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(B + C) =
192

5
= 

2
38

5

21. (b)

711, 1185 474 = 237 × 30

7110

–1510

-III-I
–474711

-II
1185

6

= 10 + 6 – 15 = 1

=

= 
237 30

1


= 7110

22. (d)

   
1



S   :  S
3    :   4
4    :   3  

1 2

1  = 20 + 30

1  = 50 

= 12 

= 12 × 
50

60
= 10 

= D

D D 50
3 4 60

 

4D 3D 50
12 60

 

D 10 km

–

SMART APPROACH:- 

23. (a)

 y 

= 

y = 33 m/s × 11s = 363m

24. (a)

   = 11  :  10

 = 10  :  11

11 – 10 = 1

 1 = 13

 10 10 × 13 = 130

 130

25. (c)

= L
2

 2345 L 18

126 5

 


= 22

(345 + L
2
) =

126 5 22

18

 

L
2
 = 425

905 

= 
425 905

76



=
1330 18

76 5




= 63 

26. (d)

  1000 : 900

  1000 : 850

200 : 180  :153

47

: :

200 1000

47  
1000

200
 × 47 = 235

 = 235 .

27. (a)

,

3 3a
= =

y 1 a

x

,

56 7
=

4a 2
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 a = 4

 x = 12, y = 4

  
41.6 416

= =
12 4 160

 = 2.6

28. (b)

(10, 11, 20, 22) = 220

 = 1000

220) 1000 (4

          880

          120

220 – 120 = 100

1000 + 100 = 1100

 1100 + 8 = 1108

= 1108

29. (c)

2675 – 5 = 2670
2320 – 6 = 2314

356

2670, 2314 = 
356

2
 = 178

= 178

30. (b)

 110  1, 2, -----------110

110 = N

 –

115 = N

.___________ 110, 111, 112, 113, 114, 115

 111, 112, 114 115 110

,  = 113N

31. (c)

1 1 1 1 1 1 1 1

2 6 12 20 30 42 56 72
      

1 1 1 1 1 1 1 1
+ + + + + + +

1×2 2× 3 3× 4 4×5 5 ×6 6× 7 7× 8 8 ×9


= 1 – 
1

2
 + 

1

2
 – 

1

3
 + 

1

3
 – 

1

4
 + 

1

4
 – 

1

5
 + 

1

5
 – 

1

6
 + 

1

6

– 
1

7
 + 

1

7
 – 

1

8
+ 

1

8
 – 

1

9
  = 1 – 

1 8

9 9


32. (a)

a = (0.0002), b = (0.0033), c = (0.0444)

2 2 2 2 2 2

2 2 2 2 2 2

a b c a b c

a b ca b c
10010 10 10

   
 

                 

= 100

33. (d)

× ×

 = 15 × 10 ×  2.5

= 375 3

= 375 

34. (b)

= 20000 + 30000 + 30000 + 10000 + 10000 = 100000

1

= 1.5

100000 = 1.5 × 100000 = 150000

35. (c)

B 

= 30000 × 
30

100
= 9000

C

= 30000 × 
30

100
= 9000

D

= 10000 × 
40

100
= 4000

E

= 10000 × 
90

100
 = 9000

= 9000 + 9000 + 9000 + 4000 = 31000

= 1.5 × 31000 = 46500
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Aditya Ranjan Sir

1.

The cost of a sewing machine depreciates at the
rate of 15% every year. It was bought 2 years ago.
If the present value of the machine is  1445, find
its purchase price.

(a)  2400 (b)  2200
(c)  1800 (d)  2000

2.

In an examination, there are three subjects of 100
marks each. A student scores 75% in the first
subject and 86% in the second subject. He scored
68% in aggregate. His percentage of marks in the
third subject is:

(a) 65% (b) 48%
(c) 56% (d) 43%

3.

By selling 5 cameras, Sachin gains the cost price
of 2 cameras. What is his profit percentage?
(a) 40% (b) 20%
(c) 35% (d) 25%

4.

If an item is sold at Rs. 440, there is a loss of 60%
of the profit made by selling the same item at Rs.
1000. Find the purchase price of that item? (in
rupees)

(a) 650 (b) 680
(c) 660 (d) 670

5.

A smart TV was purchased for Rs. 155000. Its price
was marked up by 35%. It was sold at a discount
of 20% on the marked price. What was the profit
percent of the smart TV?

(a) 8 (b) 6
(c) 4 (d) 2

6.

The selling price of an article is Rs 1,548 after
successive discounts of 10% and 20%. If the cost
price is 50% of the marked price then what is the

cost price (in Rs)?

(a) 1,065 (b) 1,055

(c) 1,075 (d) 1,045

7.

A sum of money invested at simple interest triples
itself in 15 years. Find in how many years will it

become 13 times itself at the same rate?

(a) 95 (b) 97

(c) 90 (d) 80

8.

The interest earned after investing in simple
interest for 5 years at the rate of 12% per annum

is Rs 3720. Find the amount invested (in Rs)?

(a) 6300 (b) 6500

(c) 6400 (d) 6200

9. 4%

Vinita lent Rs 5000 for 3 years at the rate of 4%
per annum compound interest. What is the amount
received by Vinita after 3 years?

(a) Rs. 5264.32 (b) Rs. 5624.32

(c) Rs. 5846.23 (d) Rs. 5124.42

10.
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A sum of money is paid back in two annual
instalments of Rs.1,25,000 each. If rate of interest is
6% per annum and interest is compounding annually,
then find the sum borrowed.(Consider round up
integral value)

(a) Rs.1,50,375 (b) Rs.2,39,174

(c) Rs.2,29,174 (d) Rs.1,19,375

11.

Suhas and Nitin invested some money in a business
in the ratio 8 : 3, but Suhas withdrew his money
after a few months. If at the end of twelve months'
profit was shared by Suhas and Nitin in the ratio 5
: 4, for how many months did Nitin invested alone?

(a)
5

5
8

(b)
3

6
8

(c)
3

5
8

(d)
5

6
8

12. A, B C, 4 : 5 : 6 

C A 

Three partners, A, B and C shared profits in the
ratio 4 : 5 : 6. If C's share of the profit was Rs.200
more than that of A, find the total profit generated
by them.

(a) 1,500 (b) 1,600 

(c) 1,650 (d) 1,750 

13.

Aditya has got 10 paise and 20 paise coins. If the
total number of coins he has is 50, and the total
amount is Rs. 6, then what is the total number of
20 paise coins he has?

(a) 10 (b) 30

(c) 20 (d) 40

14.

In a library, 25% of the number of mathematics
books is equal to two-third of the number of physics
books. What is the ratio of the number of
mathematics books to that of the physics books in
the library?

(a) 4 : 7 (b) 8 : 3

(c) 7 : 4 (d) 3 : 8

15. 50 3 : 2

6 : 7

In a mixture of 50 liters, the ratio of alcohol and soda
is 3 : 2. How much soda should be mixed to make
the ratio 6 : 7?

(a) 10 Litre (b) 15 Litre

(c) 20 Litre (d) 25 Litre

16.

The ratio of salaries of Sam, Sai and Shri is 7 : 9 :
11. If Shri gets Rs 320 more than Sam, then what

is Sai's salary (in Rs)?

(a) 840 (b) 740

(c) 820 (d) 720

17.  6535,  7027,  6955,

 7330  6362  6600

A grocer has a sale of  6535,  7027,  6955,
 7330 and  6362 for 5 consecutive months.

How much sale should he have in the sixth
month so that he gets an average sale of 
6600? ( in )

(a) 5391 (b) 5389

(c) 5385 (d) 5387

18.

The average weight of 45 students of a school is
55 kg. If the weight of the teacher is included, the
average weight rises by 300 grams. Find the weight
of the teacher.

(a) 69.8 kg/ (b) 67.8 kg/

(c) 70.8 kg/ (d) 68.8 kg/

19. X 135 Y

225 Z 300

X Y Z

X can finish a work in 135 days, Y can finish a work
in 225 days and Z can finish the same piece of work
in 300 days. How many days will they require to
complete the work, if X, Y and Z are working
together?

(a) 35
63

41

                  
   

 (b)
35

61
41

                  
   

 

(c)
35

67
41

                  
   

 (d)
35

65
41
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20.

If 6 men can complete a work in 4 days and 3
women can complete the same work in 7 days, then
find the time taken to complete same work by 8
men and 3 women.

(a)
22
15

 days (b)
24
13

 days

(c)
25
12

 days (d)
21
10

 days

21. A, B C 

C, B B,

A A 

A tank is filled by three pipes A, B and C in 4 hours.
Pipe C is twice as fast as Pipe B, and Pipe B is
twice as fast is pipe A . How much time will take
A to fill the tank?

(a) 25 hrs (b) 26 hrs

(c) 20 hrs (d) 28 hrs

22.

A person travels 25 m in 4 s and then 15 m in 2
s. What is the average speed of the person?

(a) 6.64 (b) 6.65 

(c) 6.67 (d) 6.63 

23.

kmph

kmph

A girl Completes a journey in 33 hours. She travels
first half of the journey at the rate of 30 kmph. and
second half at the rate of 36 kmph. Find the total dis-
tance of whole journey.

(a) 1080 (b) 1180

(c) 980 (d) 1280

24

Without stoppages a train travels a certain distance
with an average speed of 75 km/h and with
stoppages it covers the same distance with an
average speed of 65 km/h. How many minutes per
hour does the train stop?

(a) 10 min. (b) 7 min.

(c) 9 min. (d) 8 min.

25.

A 300m long train crosses an electric pole in 5 sec.
Find the speed of the train.

(a) 220 (b) 200 

(c) 218 (d) 216 

26. A B 

A

In a linear race of 1000 m, A beats B by 50 m or 5
seconds. Determine how much time A takes to com-
plete the race.

(a) 120 sec/

(b) 60 sec/

(c) 100 sec/

(d) 95 sec/

27.

Arjun takes 5 hours to swim 40 km in the
upstream, where as he only takes 2 hours to swim
24 km in the downstream. Tell his speed of
swimming in still water.

(a) 12 (b) 10 

(c) 9 (d) 15 

28. 0! + 1! + 2! + 3! .......... + 98!

0! + 1! + 2! + 3! .......... + 98! What will be the
remainder when divided by 5?

(a) 2 (b) 5

(c) 3 (d) 4

29. p q pq

p×q

If p and q are two single digit natural numbers of a
number 728pq such that it is divisible by 80, then
p×q is equal to:

(a) 5 (b) 10

(c) 0 (d) 15

30. X X

The LCM of 32 and 40 equals to 9 less than the

square of X. Find the positive value of X.

(a) 14 (b) 11

(c) 12 (d) 13
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31.
0.051× 0.051× 0.051+ 0.041× 0.041× 0.041
0.051× 0.051 – 0.051× 0.041+ 0.041× 0.041

The value of......

(a) 0.092 (b) 0.0092

(c) 0.92 (d) 0.00092

32.

What is the value of the given expression?

 
  
 

3 4 3 2
9 ÷ +25 + – 9of

5 5 15 3

(a) 45 (b) 34

(c) 42 (d) 37

33.

The width of a rectangle is 215 cm and its diagonal
is 559 cm. Find out its perimeter. (in cm)

(a) 1762 (b) 1462

(c) 1862 (d) 1562

Directions: The bar graph below shows the data of
the price of three different Laptops (in thousands)
for the years 2011 to 2015.

0

5

10

15

20

25

30

35

40

45

2011 2012 2013 2014 2015

22

31

14

31

2
0

39

3

17

10

13

19

9

25

20

33

X Y Z

P
ri

c
e
 o

f 
T

h
re

e
 D

if
fe

re
n

t 
L
a
p
to

p
s

(I
n

 T
h

o
u
s
an

d
)

34. Y Z

Find the difference between the price of laptop Y
in 2013 and laptop Z in 2014. (In thousands)

(a) 6 (b) 4

(c) 9 (d) 8

35. X Z

The price of Z in 2012 is what % more than the
price of X in 2012?

(a) 24.806 (b) 26.806

(c) 27.806 (d) 25.806

ANSWER KEY
1.(d) 2.(d) 3.(a) 4.(a) 5.(a) 6.(c) 7.(c) 8.(d) 9.(b) 10.(c)

11.(b) 12.(a) 13.(a) 14.(b) 15.(b) 16.(d) 17.(a) 18.(d) 19.(d) 20.(d)

21.(d) 22.(c) 23.(a) 24.(d) 25.(d) 26.(d) 27.(b) 28.(d) 29.(c) 30.(d)

31.(a) 32.(b) 33.(b) 34.(d) 35.(d)
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1. (d)

3
15%

20


I 20 17

II 20 17

400 289
,

289  1445

400   
1445

289
× 400

=   2000
2. (d)

I : II : III

100 : 100 : 100

1 : 1 : 1

75% 86% ?

%  = 68%

%

= 
68 (1 1 1) – 75 1 – 86 1

%
1

    

= 
(204 –161)

%
1

 = 43%

I II III

75% 86% 68–25

+7 +18 (= 43%)

+25% –25%

=   Total

68%

SMART APPROACH:- 

Sum

By Deviation:-

3. (a)
,

5  – 5  = 2 

5  = 7 

7

5


 % = 
7 5

5


× 100 = 40%

4. (a)

440 1000

+5x–3x

CP

SOLUTIONSSOLUTIONS

= 3x

= 5x

 3x + 5x = 560

 8x = 560

1x = 70

 = 3x

= Rs 210

= 440 + 210

= Rs 650

5. (a)

(C.P.) = 100%

–20%35%

C

8

.P.  M.P. .

100% 1

.

35% 1

P

0

S

%


(M.P.) = 100 × 
135

100
 = 135%

 (S.P.) = 135 × 
80

100
 = 108%

= (S.P.) – (C.P.) = 8%

SMART APPROACH:- 
35 20

35  20  
100

15  7 8%




 

––

–

6. (c)

10 9

5 4

50 36

= ×
=

= 
2150

2
=1075 

7. (c)

= P

= 2P

= 100

 

2P = 
P 15

100

 
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= 
40

3
%

12P = 
P 40

3 100

 


= 90 

SMART APPROACH:- 
Constant

( )

2 15

6 ×6

12 15 6 90

 
  
 
 

 

8. (d)

= 
P R T

100

 


P 12 5

100

 
 = 3720

P = 
3720 10

6


 = 6200 

9. (b)

P = 5000, T = 3 , R = 4%
5000

II IIII

4% 4% 4%

200 200 200 

8

8

0.32

8 
4%

4%
4%

4%

= 200 × 3 + 8 × 3 + 0.32 = Rs.624.32

= Rs.5624.32

= 4 + 4 + 
4 4

100


= 8.16%

= 8.16 + 4 +
8.16 4

100


= 12.4864%

 = 5000 × 12.4864% = 624.32

= 5000 + 624.32

= 5624.32
10. (c)

6% = 
3

50

I 

II 

53×53

2500 2809

:

:

:5150 2809Each

2650 = 50×53

2809 125000

125000
5150 5150

2809
229174



 



11. (b)

 :  = 8 : 3

x 

8 5

3 12 4






x

32x = 5 × 12 × 3

x = 
5 12 3 45 5

5
32 8 8

 
   

,
3

6
8

12. (a)

A : B : C = 4 : 5 : 6

= 4x : 5x : 6x 

,

6x – 4x = 200
x = 100

= 4x + 5x + 6x = 15x

= 15 × 100 = 1500 

13. (a)

10 20

50 –

50 –

10 5 5





x y x

x y x

,

50 –
6

10 5

x x
 

x + 100 – 2x = 60
40 = x

20  = y = 10
14. (b)

 × 
25

100
 = 

2

3
 × 

8

3


15. (b)

(3 2) 2

6 7



6 4

6 7
+3

= 6 + 4 = 10
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10 50

= 3   
50

10
× 3 = 15

16. (d)

7 : 9 : 11

320

4 = 320

9 = 720

17. (a)

=  x

6535 7027 6955 7330 6362

6

x    

= 6600
x + 34209 = 39600

x = 5391

18. (d)

= 55 + 0.3 × 46
= 55 + 13.8 = 68.8 kg.

19. (d)

135, 225, 300 

= 2700

135

2700

20
12

9

A B C
225 300

A, B C

= =
2700

20 12 9 

 = 
2700 35

65
41 41

  

20. (d)

,

6M × 4 = 3W × 7

M 7
=

W 8

 = 6M × 4

= 6 × 7 × 4 = 168

(8M + 3W)

8 × 7 + 3 × 8 = 56 + 24 = 80

168 21
=

80 10

21. (d)

 A          

1 2 74

C
4

A+B+CB

A =
28

1

=

22. (c)

,

= 

= 
(25 15)

(4 2)



 = 
40

6
 /

= 6.67 /

23. (a)

 = 2x

x x
33

36 30
 

30x 36x
33

36 30






66x = 33 × 36 ×30

x = 
33 36 30

66

 

x = 540

  = 2x = 540 × 2

= 1080 

    

×

  = 33 

= 1080 km

1 2

1 2

2S S

S S




2 30 36
33

66

 
 

SMART APPROACH:- 

2 30 36

66

 


×

=

24. (d)

 = 
75 – 65

75
 × 60 

= 8 
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25. (d)

 = 
300

5

= 60 /

= 
18

60
5

 = 216 /

26. (d)

950 95

:

50 5
×19

A B

×19

A  = 95 .
27. (b)

= 
40

5
 = 8 

= 
24

2
 = 12 

D U

2


 = 

8 12

2


 = 10 

28. (d)

0! 1! 2! ...... 98!

5

   

4! = 4 × 3 × 2 × 1 = 24
5! = 5 × 4 × 3 × 2 × 1

= 
5 4 3 2 1

5

   

4! 

1 1 2 6 24 0 0....

5

     

=
34

5
 = 4 

29. (c)

728 pq ( )

p q 0 

p × q = 0 × 0 = 0

30. (d)

32 40  = 160

x2 – 9 = 160
x2 = 169

13 x

 (x) = 13

31. (a)

3 3

2 2

a b

a b ab



 
 = (a+b)

, a = 0.051, b = 0.041

 a + b = 0.051 + 0.041

= 0.092

32. (b)

3
9

5
  + 25 

4 3

5 15
     – 9 of 

2

3

9 × 
5

3
 + 25 

15

15
 
    – 9 × 

2

3

 15 + 25 – 6 = 34

33. (b)

(w) = 215

(d) = 559 

l² + w² = d²

l² = 559² – 215²

l² = 312481 – 46225

l² = 266256

266256l

l = 516 

516

= 2 (516 + 215)

= 1462

34. (d)

 = Y Z)

= 17000 – 9000 = 8 

35. (d)

2012 Z = 39

2012 X = 31

% 
39 31

100
31

 

800

31
 = 25.806%
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Aditya Ranjan Sir

1. y, x x, y

If y is 20% more than x, then by what percent x is
less than y?

(a) 16% (b) 16.67%

(c) 17.67% (d) 16.33%

2.

The Station Master decided to increase the length
and width of the rectangular digital board by 9%
and 1% respectively. Calculate the total change in
area.

(a) 9.91% (b) 7.91% 

(c) 8.91% (d) 10.09% 

3.  13224 

 6612 28% 

When the article sold at the rate of  13224 earned
a profit of 28% more than that of the loss incurred
when the same article sold at the rate of  6612.
Find the cost price of the article.

(a) 9612 (b) 9712

(c) 9715 (d) 9512

4. T %

1 kg

800 g 40 % T

A dishonest shopkeeper sells goods to a customer
at a profit of T % over the cost price and also weighs
800g instead of 1kg. His total profit percentage is
40%. What is the value of T?
(a) 40 (b) 24
(c) 10 (d) 12

5.

25%  50% 

18500  
A tradesman marks the price of his goods such
that after allowing a discount of 25%, he earns a
profit of 50%. What is the marked price of the
article whose cost price is Rs.18500? (in Rs.)
(a) 34000 (b) 36000
(c) 35000 (d) 37000

6.

A shopkeeper, after marking an item by increasing
its cost price by 33%, gives a discount of 33% on
its sale. Then find the percentage of total profit or
loss suffered by him?

(a) 9.96% (b) 10.89% 

(c) 8.64% (d) 11.24% 

7.

A certain sum of money becomes  1260 in 2
years and  1350 in 5 years at simple interest.
Find the approximate rate of interest?

(a) 4.5% (b) 1.5%

(c) 2.5% (d) 3.5%

8.

Depositing a certain amount at a simple annual
interest rate of 12% for 5 years yields Rs. 4,200

interest. Find the amount deposited (in Rs.) ?

(a) 7,500 (b) 6,000

(c) 7,000 (d) 6,500

9.

The difference between compound interest and simple
interest on an amount of Rs.24000 for 2 years is Rs.

240. What is the rate of interest per annum? (In%)

(a) 12 (b) 14

(c) 8 (d) 10

10.

Under compound interest, an amount doubles in
3 years. How many years will it be 256 times its
amount?
(a) 24 years (b) 28 years
(c) 22 years (d) 26 years
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11.

2:3

Mitali and Jhulan invested Rs.336 and Rs.231
respectively in a business but Mitali withdraw her
money after a few months. If the end-of- twelve-
months' profit was shared between Mitali and
Jhulan in the ratio 2:3, after how many months did
Mitali take out her money?

(a) 4.5 (b) 5.5

(c) 6.5 (d) 7.5

12.

The average of 7 numbers is 143. After cutting one
number, the average remains the same. Find the
excluded number.
(a) 143 (b) 139
(c) 141 (d) 137

13. A B 3 5 A

B 8 4 : 5

A B

A and B have chocolates in the ratio 3 : 5. If A
gets 8 more chocolates than B, the ratio becomes
4 : 5. Find how much chocolate A and B had ini-

tially?

(a) 16, 30 (b) 24,40

(c) 25, 40 (d) 30, 40

14.
2
3

In a school, 20% of the boys is the same in number

as 
2
3

 of the girls. What is the ratio of boys to girls

in that school?

(a) 10 : 9 (b) 3 : 10

(c) 9 : 10 (d) 10 : 3

15.

A container contains 36 litres of water. From this
container, 6 litres of the content were taken out
and replaced by oil. This process was repeated two
times. How much water is inside the container?

(a) 30 (b) 28 

(c) 25 (d) 20 

16.
1 1 1

: :
2 3 4

P, Q R R

 ______.

Rs. 936 is divided among P, Q  and R in the ratio

2 : 3 : 4 instead of 
1 1 1

: :
2 3 4

 by mistake. The gain

of R in the  distributrion is ______.

(a) Rs. 200 (b) Rs. 24

(c) Rs. 124 (d) Rs. 216

17. 6835,

7327, 7255, 7630 6662

6900

A grocer has a sale of 6835, 7327, 7255, 7630
and 6662 for 5 consecutive months. How much
sale must he have in the sixth month so that he
gets an average sale of 6900?
(a) 5591 (b) 5691
(c) 5391 (d) 5494

18.

The average weight of eleven players' state-level
cricket team is 106 kg. When the coach is added
then the average weight increases to 1 kg. What is
the weight (in kg) of the coach?
(a) 114 (b) 120
(c) 116 (d) 118

19. A B, A

B

A can do a piece of work in 12 days. B is 20% less
efficient than A. In how many days will B take to
complete the work?
(a) 16 days (b) 18 days
(c) 20 days (d) 15 days

20.

When Ashish finishes a certain work, he gets a total
wages of Rs. 70. When Kanika finishes the same
work, she gets a total wages of Rs. 165. The daily
wages of Ashish and Kanika are Rs. 3.5 and Rs.
5.5 respectively. If both of them do it together,
what is the cost of the work?

(a) Rs. 108 (b) Rs. 144

(c) Rs. 120 (d) Rs. 140
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21. A,  828 B

1035 

Pipe A can fill a tank in 828 minutes and Pipe B
can empty the same tank in 1035 minutes. If both
pipes are opened together, how many hours will it

take to fill the empty tank?

(a) 69 hours/ (b) 73 hours/

(c) 71 hours/ (d) 75 hours/

22.

The speed of a car increases by 2 kms after every
one hour. If the distance travelling in the first one
hour was 35 kms. what was the total distance
travelled in 12 hours?

(a) 456 (b) 482 

(c) 552 (d) 556 

23. 86 

88 

174 

A train travels from Chandigarh to Faridabad at a speed
of 86 km/hr and return at a speed of 88 km/hr. If it takes
174 hours for total travel then find the distance between

Chandigarh to Faridabad.

(a) 7468 km (b) 4668 km

(c) 7568 km (d) 7768 km

24. A

B

B

B

Seema and Geeta, at the same time, start the
journey to reach place B which is 90 km away from
place A. The speed of Seema is 3 km/h less than
the speed of Geeta. Geeta reaches place B and
immediately starts walking back. On the way it
meets Seema at a distance of 15 km from point B.

Find the speed (in km/h ) of Geeta.

(a) 9 (b) 10.5

(c) 12 (d) 7.5

25.

A train takes 23 seconds to cross the signal at one
end of a 260 m long bridge. If the train takes 49
seconds to cross the bridge then find the length of
the train.
(a) 270m (b) 330m
(c) 230m (d) 430m

26. A, B C  5 ., 3 . 8 .,

A C

 A B

A, B and C runs at speeds  5 m/s, 3 m/s and 8 m/s,
respectively. They start the race at the same time
from the point. After some time, it was found that the
distance between A and C is 6  m. Determine the
distance between A and B.
(a) 3 m (b) 2 m
(c) 5 m (d) 4 m

27.

The speed of a boat in still water is 12 km/h. The
speed of the stream is 8 km/h. The boat is carried
in the direction of the current for a certain distance
and then brought back to the starting point. What
was the average speed of the boat during the whole
journey?

(a) 7 / (b) 
20
3

 /

(c) 6 / (d) 8 /

28. 5 593ab 3,7 11 

 (a² – b² + ab)
If the 5 -digit number 593ab is divisible by 3,7 and
11 , then what is the value of (a² – b² + ab)?
(a) 35 (b) 31
(c) 25 (d) 29

29.

Find the least number in which the number
obtained by adding 18 is completely divisible by 28,
36 and 45.
(a) 1242 (b) 280
(c) 518 (d) 1000

30.

The ratio of two numbers is 4 : 5 and their HCF
is 6. Their LCM is:
(a) 120 (b) 88
(c) 168 (d) 72
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31.
Find the value of the following expression.

2 11 2 1 1 3 4
3 ÷  of –  of 2 ÷ × 4

3 30 3 4 2 5 5
2 1 3 3 1 1

 of 7 ÷ – ×1 ÷ 2
5 2 4 4 2 4

(a)
2

3
3

(b)
2
3

(c)
6

2
7

(d)
2

2
3

32.

1 1 1
÷ × 16 6 6 –

1 1 1 36÷ of
6 6 6

Find the value of

(a)
1
6

(b) 0

(c)
1
36

(d) 1

33.

1
33 %

3
 

If the radius of the base of a cylinder is increased

by 20% and its height is decreased by 
1

33 %
3

, then

what will be the percentage change in its volume?

(a) (b)

(c) (d)

Directions: Look at the following figure and answer

the questions given below.

The chart below shows the results of a survey on

five different food items in hotels.

Sandwich Burger Chicken Tikka Hot Dog Pizza
1
5
0
0

1
2
8
0

4
2
0
0 2

2
0
5

6
6
1
5

1
0
0
8

2
5
2

1
5
1
2

3
5
2
8

/Male /Female

Preference for various food items.

2
1
0
0

34.

Find the ratio of the number of people who like

Sandwich to those who like Hotdog.

(a) 117 : 23

(b) 27 : 59

(c) 54 : 23

(d) 139 : 63

35.

What is the percentage of females who like Burger

less than the males who like Burger?

(a) 75% (b) 25%

(c) 100% (d) 50%

ANSWER KEY
1.(b) 2.(d) 3.(d) 4.(d) 5.(d) 6.(b) 7.(c) 8.(c) 9.(d) 10.(a)

11.(b) 12.(a) 13.(b) 14.(d) 15.(c) 16.(a) 17.(b) 18.(d) 19.(d) 20.(a)

21.(a) 22.(c) 23.(c) 24.(b) 25.(c) 26.(d) 27.(b) 28.(d) 29.(a) 30.(a)

31.(c) 32.(b) 33.(c) 34.(d) 35.(d)
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1. (b)

20% = 
1
5

5 6

–1

x y

% = 
1
6

 × 100 = 16.67%

2. (d)

= 9 + 1 + 
9 1

100



= 10 + 0.09 = 10.09% 
3. (d)

28% = 
= 327

25 



1

6612 13224

25 32 2

(25 + 32) = 13224 – 6612

1 = 116

25 = 116 × 25 = 2900 

 = 6612 + 2900

= 9512 
4. (d)

SP 140 1000 y

CP 100 800
    
  x

7 5 y

5 4
 

x

y 28

25


x

3
% 100% 12%

25
  

5. (d)

100
C.P.

100

 
  
 

100 –
M.P.

100

 
   
 

100 50
C.P

100

 
  

100 – 25
M.P.

100

 
   
 

150 75
C.P. M.P.

100 100
  

C.P. 1

M.P. 2


SOLUTIONSSOLUTIONS

1   18500

2  18500 × 2

=  37000

6. (b)

= x – y –
100

xy

= 33 – 33 – 
33 33

100



= – 10.89%

% =

7. (c)

= 1350

= 1350 – 1260 = 90

= 
90

3
× 2 = 60

 = 1260 – 60  = 1200

 = 
30 100

1200


 = 

5

2
= 2.5%

8. (c)

(P) = 
4200 100

12 5




= 7000 

9. (d)

= 24000 = 240 = ?

=  –  = 
2

100
 
 
 

2

240 24000
100 100

 


 2 = 100

  = 10%

10. (a)

28 = 256

×

× 
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11. (b)

x

336 × x : 231 × 12 = 2 : 3

336 2

231 12 3




x

x = 
2 231 12 11

336 3 2

 



 = 5.5 

5.5

12. (a)

= 143

= 7 × 143 = 1001

= 6 × 143

= 858

= 1001 – 858

= 143

:

13. (b)

3 5

1  8

BA
:
:

4 5:
+1

A = 3   24

B = 5   40

14. (d)

× 
20

100
 =  × 

2

3

 :  = 10 : 3

15. (c)

 = 
2

36 1 –
36

 
  

= 
5 5

36 ×
6 6

 = 25 

16. (a)

P : Q : R = (2 : 3 : 4) × 13

26 : 39 : 52   117

= 
1

2
 : 

1

3
 : 

1

4
 (6 : 4 : 3) × 9

54 : 36 : 27  117

 117   = 936

R  (52 – 27) = 8 × 25

= 200 

17. (b)

= x

6835 7327 7255 7630 6662

6

x    
= 6900

35709 + x = 41400
x = 41400 – 35709 = 5691

18. (d)
= 106 × 11 =

1166 kg
= 12 × 107 = 1274 kg

= 1284 – 1166 = 118

19. (a)

 4

 5

:

:

5

4
A B

×3 ×3

60

BA :

= 60

B  
60
4

 = 15 

20. (a)

= 20

= 30

3

2

60

70

3.5

165

5.5



, 60 

, 


60

5
 = 12 

  = 12 (3.5 + 5.5)

= 12 × 9 = 108 
21. (a)

828, 1035 = 23 × 9 × 20 = 4140

4140

A B
828 1035

5 –4



4140 4140

5 – 4 1 60
 



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22. (c)

/

=  35 + 37 + 39 + 41 + 43 + 45

+ 47 + 48 + 51 + 53 + 55 + 57

= 
n

2
 ( + )

=  
12

35 57
2

  = 552 

552 
23. (c)

= 174 

 =
 1 2

1 2

2 S S

S S




 =

2 86 88

86 88

 


 = 

2 86 88

174

 

 = × 

=
2 86 88

174
174

 
 = 

  =
2 86 88

86 88
2

 
  = 7568 

24. (b)

A C B75 15
90

 = 75

 = 90 + 15 = 105

   
2       3 

75 : 105
5 : 7

1      1.5 



7  10.5 

10.5 
25. (c)

= 
23

x
    .....( 1)

2:-

= 


= 
260

49

x
         ....( )

= 
260

49

x
 = 

23

x

 23 × 260 = 26x

 x = 230m

26. (d)

   A : B : C

 = 5 : 3 : 8

A  C = 6 

3 = 6 .

1 = 2 .

A  B = 2 2 × 2 = .

27. (b)

(V) = 12 /

(U) = 8 /

V + U = 20 /

V – U = 4 /

  
2 20 4

=
24

 

20
=

3
 /

28. (d)

59300 256231 
462

1310 
1155

1550
1386

164

5   9   3   6   7

a b 

67

a² – b² + ab
(6)² – (7)² + 6 × 7 = 29

29. (a)
28, 36, 45 = 1260

1260 28, 36 45 

= 1260 – 18 = 1242
30. (a)

A × B =  × 

4 × 5 × a2 =  × a

4 × 5 × 6 = 

  = 120
31. (c)

2 11 2 1 1 3 4
3  of  of 2 4

3 30 3 4 2 5 5
2 1 3 3 1 1

 of 7 – 1 2
5 2 4 4 2 4

   

  

= 

2 11 5 3 4
3 4

3 45 8 5 5
3 3 1 1

3 1 2
4 4 2 4

   

   
 = 

11 45 5 5 24
3 11 8 3 5

4 3 3 4
3

3 4 2 9

   

   

= 
15 5 10 2

1 74
2

 



   = 

20 6
2

7 7

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32. (b)

1 1 1
16 6 6 –

1 1 1 36of
6 6 6

 


 = 

1
1 1 16 – –

6 36 36 36
  = 0

33. (c)

20% = 
1 1 1

, 33 %
5 3 3



 = r2h

R 5 6

R 5 6

H 3 2

75   72





% = 
3

75
×100

  4%

34. (d)

= 1500 + 1280 = 2780

= 1008 + 252 = 1260



= 
2780

1260

= 
139

63
 = 139 : 63

35. (d)

= 2100

= 4200

% = 
4200 – 2100

4200
× 100 = 50%
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Aditya Ranjan Sir

1.

A bulb manufacturer found that 13% of the total

product was defective. If the number of non
defective products is 4524, find the number of

defective products.

(a) 686 (b) 676

(c) 656 (d) 696

2.

Vignesh spends 42% of his monthly income on
food, 16% on house rent, 11% on entertainment
and 7% on transport. But due to some family

function, he had to borrow Rs. 12,000 from a
moneylender to meet the expenses of Rs. 18,000.
What is his monthly income?

(a) Rs. 30,000 (b) Rs. 25,000

(c) Rs. 20,000 (d) Rs.24,000

3.  2066  2621 

 85% 

 

The Loss incurred by selling an article at  2066

is 85% of the gain incurred by selling the same

article at  2621. Find the cost price of the article.

(a) Rs.2521 (b) Rs.2421

(c) Rs.2321 (d) Rs.2621

4.

%

A shopkeeper buys an item for Rs 225 and sells it

for Rs 180. Find the loss percentage? (in %)

(a) 25 (b) 30

(c) 35 (d) 20

5.  162100 

30%  20% 

A smart TV was purchased for

 162100. Its price was marked up by 30%. It was sold
at a discount of 20% on the marked price. What was
the profit percent on a smart TV?
(a) 1% (b) 3%
(c) 4% (d) 5%

6.

A shopkeeper, after marking an item by increasing

its cost price by 31%, keeps a discount of 31% on
its sale. Then find the total percentage profit or

loss suffered by him?

(a) 9.61 (b) 8.64 

(c) 10.21 (d) 7.44 

7.

One-third of a certain amount is invested at 3%, one-

sixth at 6% and the rest at 8%. If out of all these

investments the interest accrued in 3 years is  600,

then find the principal amount.

(a) Rs.3333.3 (b) Rs.10000

(c) Rs.4000 (d) Rs.2000

8.

Investing a sum of money at simple interest rate of

12% per annum gives interest of Rs.3960 after 5

years. Find the amount invested. (in Rs.)

(a) 6300 (b) 6600

(c) 6500 (d) 6400
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9.

Find the total amount for a period of 6 months on the
principal amount of  10,000 at 12% per annum,
compounded quarterly.

(a) Rs.14652 (b) Rs.10609

(c) Rs.12365 (d) Rs.11360

10.

The difference between simple interest and compound

interest on a certain sum at 5% per annum for 2 years is
5. Find the amount.

(a) Rs.2000 (b) Rs.1500

(c) Rs.1600 (d) Rs.1900

11.

25:24

Torsha started a business with Rs.2250 while Trisha
invested Rs.2880 after a few months. If at the end of
12 months (from Torsha's investment) profit is shared
by Torsha and Trisha in the ratio 25 : 24, for how
many months did Trisha stay invested?

(a) 7 (b) 8

(c) 9 (d) 10

12.

There is 10 rings in a gift box. The average weight
of the first 4 rings is 39 grams and the remaining
6 rings have an average weight of 40 grams. Find
the average weight (in grams) of the total rings.
(a) 39.4 (b) 39.2
(c) 39.6 (d) 39.8

13. A C A

B C

A B

The ratio between the monthly savings of A and

C is 3 : 5, and that between A and B is 2 : 3. If
the monthly savings of C is Rs. 4,500, then what

is the sum of the savings of A and B?

(a) Rs.6,750 (b) Rs.4,900

(c) Rs.5,150 (d) Rs.4,870

14.
1 2 3

: :
2 3 4

If a sum of Rs. 644 is divided into three parts in

the ratio 
1 2 3

: :
2 3 4

, then what will be the first part ?

(a) Rs.280 (b) Rs.168

(c) Rs.322 (d) Rs.186

15. A B

Two vessels A and B contain milk and water in the
ratio 4 : 3 and 2 : 3 respectively. In what ratio should
these mixtures be mixed so that a new mixture is
formed, which contains half milk and half water?

(a) 7 : 5 (b) 2 : 1

(c) 1 : 2 (d) 6 : 5

16. 75

kg 1 kg

kg

The average weight of a state level cricket team of
eleven players is 75 kg, when the coach was added
the average weight increased by 1 kg. What is the

weight (in kg) of the coach?

(a) 89 (b) 90

(c) 88 (d) 87

17. 36 54.25

20 51

The average weight of 36 students in a class is
54.25 kg, and that of the remaining 20 students
is 51 kg. Find the average weight of all the students

in the class. (Approximately)

(a) 53 (b) 49

(c) 47 (d) 51

18.

Five bells start ringing together first. Then they
play at intervals of 6, 5, 7, 8 and 10 seconds. After

what interval will they ring together again?

(a) 18 (b) 14 

(c) 20 (d) 16 
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19.

15 persons can fill 35 boxes in 7 days. How many
persons are required to fill 65 boxes in 5 days?

(a) 33 (b) 36

(c) 49 (d) 39

20. B A

A

B takes five times the number of days taken by A
to complete a piece of work. Working together, they
complete the work in 15 days. In how many days

will A alone complete the same work?

(a) 18 (b) 12
(c) 20 (d) 16

21. x, y & z

x y

x y 

y z 

z x

y

z

An empty cistern is filled through three pipes x, y &
z. Pipes x and y alone can fill the tank completely
in 30 hrs and 45 hrs respectively. In the first hour,
pipes x and y fill the tank and in the second hour,
pipes y and z fill the tank and in the same manner,
the tank is 70 percent full in 15 hours. When pipe z
is opened along with x and y, then the supply
through it is 75% of the original supply, then how

long will pipe z alone take to fill the tank?

(a) 40.5 hour/ (b) 56.25 hour/

(c) 54 hour/ (d) 45 hour/

22.

A man traveled from the village to the post-office
at the rate of 25 kmph and walked back at the rate
of 4 kmph. If the whole journey took 5 hours 48
minutes, find the distance of the post-office from
the village?

(a) 40 (b) 30 

(c) 20 (d) 10 

23.

The base of a parallelogram is three times its

height. If its area is 1083 cm2, find the base and

height. (in cm)

(a) 36, 12 (b) 45, 15

(c) 57, 19 (d) 30, 10

24.

If a man climbs a hill at 6 km/h on the journey

from foot to top of the hill and returns at 10 km/
h, then find his average speed for the journey (in

km/h).

(a) 6.5 (b) 4

(c) 8 (d) 7.5

25.

A train is running at a speed of 129 km/h on a
straight railway track, and a small car on a parallel
road is running at a speed of 60 km/h. How long
(in seconds, rounded off to the nearest integer) will
the train take to cross the car completely if the
train is 943 m long and they are running in the
same direction? Ignore the length of the car as

compared to the length of the train.

(a) 49 (b) 59

(c) 39 (d) 29

26. A B A B

A B

A’s speed is 30% more than that of B. If A and B

run a race on a 117 m length race, what length
of the race should A give B as a head start, so
that the race ends in a dead heat?

(a) 90 m (b) 117 m

(c) 27 m (d) 36 m
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27.

A boat takes 8 hours to cover a distance of 60 km
upstream in a river. Whereas it takes 5 hours to
cover the same distance in downstream. What will
be the speed of the boat in still water?

(a) 9.25 / (b) 9.80 /

(c) 9.75 / (d) 9.5 /

28.

In how many ways can 432 mobiles be distributed
among the students?
(a) 20 (b) 22
(c) 18 (d) 24

29. 89563x87y 

7x – 3y

89563x87y is a nine digit number which is divisible

by 72. What is the value of 7x – 3y ?

(a) 5 (b) 6
(c) 4 (d) 8

30. . .

. .

Sum of 2 natural numbers is 140 and their HCF and
LCM are 28 and 168 respectively. Find the

difference between the numbers.
(a) 21 (b) 14
(c) 7 (d) 28

31.

   
   
   

3 1 4 1 2 1 1 1 5
+ ×2 – ÷  of 2 × 5 ÷ 3 ×

7 14 5 4 7 3 5 2 13

Find the value of the following expression.

   
   
   

3 1 4 1 2 1 1 1 5
+ × 2 – ÷  of 2 × 5 ÷ 3 ×

7 14 5 4 7 3 5 2 13

(a)
22
35

(b)
3

14

(c)
14
21

(d)
29
70

32. x[-3 {-6 (-a)}] + 6[-3 {-3 (-a)}] = 6a, x
If x[-3 {-6 (-a)}] + 6[-3 {-3 (-a)}] = 6a, then find x.

(a)
10

–
3

(b)
10
3

(c) 9 (d) –9

33.

Find the area of a right triangle whose hypotenuse

is 104 cm and base is 40 cm.
(a) 1910 cm2 (b) 1960 cm2

(c) 1920 cm2 (d) 1990 cm2

(34-35)

Directions: Study the following line graph carefully

and answer the questions given below it.

The line graph represents the production of Electric
Heater in lakh units over the years.

  

16 

19 18 

22 

26 

30 

0

5

10

15

20

25

30

35

2005 2006 2007 2008 2009 2010

34.
The production in 2007 is what per cent of

production in 2010?
(a) 30% (b) 45%
(c) 60% (d) 50%

35.

What is the percentage increase in the production
of Electric heater in the year 2009 compared to

that of 2007?
(a) 44.44% (b) 48.2%
(c) 36.66% (d) 33.33%

ANSWER KEY
1.(b) 2.(b) 3.(c) 4.(d) 5.(c) 6.(a) 7.(a) 8.(b) 9.(b) 10.(a)

11.(c) 12.(c) 13.(a) 14.(b) 15.(a) 16.(d) 17.(a) 18.(b) 19.(d) 20.(a)

21.(a) 22.(c) 23.(c) 24.(d) 25.(a) 26.(c) 27.(c) 28.(a) 29.(b) 30.(d)

31.(d) 32.(a) 33.(c) 34.(c) 35.(a)
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1. (b)
= 100%

= 13%

= 87%

= 
4524

13
87

 = 676

2. (b)
= 100%

= (100 – 42 – 16 – 11 – 7 )% = 18000 – 12000
24% = 6000
4 % = 1000

 (100%)  = 25000 
3. (c)

85% = 
17

20

2621

–17x 20x

2066 2066

(20x + 17x) = 2066 – 2621
37x = 555
x = 15
17x = 255
CP = 2066 + 255 = 2321 

(CP – 2066) = (2621 – CP) ×
17

20
20 CP – 20 × 2066 = 2621 × 17 – 17 CP
   37 CP = 44557 + 41320

CP = 
44557 41320

37


= 2321

4. (d)
 (CP) = 225 

 (SP) = 180 

 % = 
45

100
225

 = 20%

5. (c)
(C.P.) = 100%

100% 130% 130 ×  
80

100
+30 –20%

(S.P.) = 130 × 
80

100
 = 104

100% 104%

= 4%

(successive) 

x + y + 
y

100

x

x = 30% 

y = 20% 

= 30 – 20 – 
30 20

100


= 10 – 6 = 4% 

6. (a)

= x – y – 
100

xy

= 31 – 31 –
31 31

100



= – 9.61
% = 9.61%

7. (a)

600

200×3% 100×6% 300×8%

1

3 1

6

1

2

 6 6 24

 = 36

  = 36 × 3
= 108
108 600

   600  
600

108
× 600

= Rs.3333.33
8. (b)

3960 = 
P 12 5

100

 

 P = 6600 

9. (b)

= ,

= 12%

= 6 =

= 
12

4
 = 3%

SOLUTIONSSOLUTIONS
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= 3 + 3 + 
3 3

100



= 6.09%

6.09

100
× 10000 = 609

  = 10000 + 609

= 10609 
10. (a)

 SI  CI 

= 
2

2

PR

100

5 = 
P 5 5

100 100

 


P = 2000
11. (c)

x





2250 12 25

2880 24x

x = 9 

, 9
12. (c)

4 = 4 × 39 = 156 

6 = 6 × 40 = 240 

= 
156 240

10


 = 39.6 

:

= 40 – (39 – 40) 4

10

  = 40 – 0.4

= 39.6 
13. (a)

A  :  C A  :  B
(3  :  5)×2 (2  :  3)×3
6  :  10 6  :  9

 A  :  B  :  C
 6  :  9  :  10

,

C = 10  4500

A + B = (6 + 9)

= 15   450 × 15
= 6750

14. (b)

I : II : III = 
1

2
 : 

2

3
 : 

3

4

(2, 3 4)  = 12 (12 )

I : II : III : = 6 : 8 : 9
(6 + 8 + 9)  = 644

(6 ) = 
644

23
 × 6 = 168 

15. (a)

A  = 
4

7

B = 
2

5

C = 
1

2

7 : 5

4

7

2

5

1

2

1

10
1

14


C

A B

A (4 3)×5

B (2 3)×7

20 14 15 21

5 7

7

5

x y x y

x y

x

y

  
 

 

16. (d)

= 75 × 11 = 825

= 12 × 76

= 912

= 912 – 825 = 87

:

= 75 + 1 × 12

= 87 kg

17. (a)

36

= 54.25

36
= 36 × 54.25

20 = 51

20 = 20 × 51

= 
36 54.25 20 51

36 20

  


1953 1020 2973
53.08

56 56

  

= 53 
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18. (b)

6, 5, 7, 8, 10 = 840

= 840 = 
840

60
= 

19. (d)
 ,

1 1 1

1

M D T

W =
2 2 2

2

M D T

W

2M × 515 × 7
=

35 65
M

2
 = 39

 39 
20. (a)

A : B

1 : 5 ( )

5 : 1 ( )

= (5 + 1) × 15 = 90 

A  = 
90

5
 = 18 

21. (a)
= 90 

(30, 45 )

x = 3 /

   y  = 2 /

 = x + z,

 = y + z

,

15 :-
8(x + z) + 7(y + z) = 70% of 90
= 63
8x + 7y + 15z = 63
x  y 
24 + 14 + 15z = 63

z = 
5

3
/ z %

z  = 
20

9
 /

 z

= 
90
20
9

 = 40.5 

22. (c)

 = 
2 25 4

29

 

 t = 5  48  = 
29

5

 = 
8 25 29

29 5


 = 40 

= 
40

20
2



23. (c)

= × 
3x × x = 1083

x2 = 
1083

3
= 361

x = 19 

H = 19  B = 3 × 19 = 57
24. (d)

 = 
1 2

1 2

2 × S  × S

S  + S

= 
2 6 10

6 10

 
 = 7.5 

25. (a)

 = (129 – 60) = 69 /
= × 

943 = 69 × t × 
5

18

t = 
943 18

69 5


  = 49.2 

t = 49 
26. (c)

30% =
3

10

 A : B = 13 : 10

A  = 13  = 117 .

1  = 
117

13
 .

3  = 
117

13
× 3 . = 27 

 A, B 27 

27. (c)

= V /

 = U /

,

V – U = 
60

8
 = 7.5
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V + U =
60

5
 = 12

V = 
7.5 12

2


= 9.75 /

28. (a)
432 = 2 × 2 × 2 × 2 × 3 × 3 × 3

= (4 + 1) × (3 + 1) = 5 × 4 = 20
29. (b)





 89563x 87y

 
87y

8
, y = 2


8 9 5 6 3 8 7 2

9

       x
, x = 6

7 – 3y 7 6 – 3 2x     = 6

30. (d)
ax, ay (a) = 28

a (x + y) = 140
x + y = 5

 (axy) = 168

xy = 
168

28

xy = 6
x = 3, y = 2

 = ax – ay = 28
31. (d)

,

3 1 4 1 2 1 1 1 5
2 – of2 5 3

7 14 5 4 7 3 5 2 13
              

,

=
3 1 14 1 7 3 26 2 5

7 14 5 4 2 7 5 7 13

   
             
   

= 
3 1 3 4

7 5 8 7

   
        
   

= 
3 1 3

7 5 14
   = 

30 14 15

70

 

= 
29

70

32. (a)

x [– 3{– 6(–a)}] + 6 [–3{–3(–a)}] = 6a

 x [– 3(6a)] + 6 [–3(3a)] = 6a

 –18ax – 54a = 6a


60 10

18 3
x

  

33. (c)

H =    2 2
104 40 = 96 

= 
1

2
× H × B

  = 
1

2
× 96 × 40 = 1920 2

34. (c)

2007 = 18

2010 = 30

% = 
18

30
 × 100 = 60%

35. (a)

2007 = 18

2009 = 26

= (26 – 18) = 8

% = 
8

18
 × 100%

= 44.44%
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Aditya Ranjan Sir

1.

A bulb manufacturing company found 13% of the total
product defective. If the total number of non-defective
products is 4611, then find the total number of
defective products.
(a) 689 (b) 698
(c) 683 (d) 686

2.

x

x

The number of workers working on a farm is
increased by 21% and their per capita wages are
reduced by 21%. By doing this, if the total amount
spent on salaries is reduced by x%, then find the
value of x?
(a) 4.43 (b) 4.41
(c) 4.42 (d) 4.40

3. 80 90

100

Sudha bought a book for Rs. 80. Then sold it to
Radha for Rs. 90. Sudha bought it back from Radha
for Rs. 100. What is the loss percentage for Sudha?
(a) 10% (b) 12.5%
(c) 20% (d) 25%

4.

The marked price of a book is Rs 1000 and a
bookseller gives a discount of 10% on it. If he still
earns 20% profit, what will be the price of the book?
(in rupees)
(a) 740 (b) 750
(c) 760 (d) 770

5.

20% 20% 

 21100 

A tradesman marks the price of his goods such that
after allowing a discount of 20%, he earns a profit
of 20%. What is the marked price of an article if
cost price is  21100 (in )
(a) 32650 (b) 31650
(c) 34650 (d) 33650

6.

A book is marked with a price of Rs. 1,500. He earns
a profit of 20% even after giving a discount of 10%
on it. Find the purchase price (in Rs.) of the book?
(a) 1,135 (b) 1,155
(c) 1,145 (d) 1,125

7.

Rs. 4600 was invested at 8% simple interest rate
per annum. If after 5 years the amount is
withdrawn and half the amount is invested in the
share market, then what will be the remaining
amount (in Rs.)?

(a) 2880 (b) 4220

(c) 3220 (d) 3660

8. r

r

The amount obtained by investing a certain sum at
r% p.a. for 3 years at simple interest is equal to the
simple interest on the same sum at the same rate
for 19 years, What is the value of r?
(a) 4% (b) 5.75%
(c) 6.25% (d) 8%

9. 5%

80000

8200
A person invested Rs. 80000 at 5% compound interest.
If the accumulated interest is Rs. 8200, then what is
the time period in years?

(a) 2 (b) 1
(c) 4 (d) 3

10.

On a compound interest, a sum is tripled to the
original amount in 4 years. In how many years will
it be 729 times its original amount?
(a) 23 (b) 24
(c) 21 (d) 22
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11. A, B, C

A

B C

A, B, C started a business with their investments in
the ratio 1 : 3 : 5. After 4 months, A invested the
same amount as before and B as well as C withdrew
half of their investments. The ratio of their profits at

the end of the year is :

(a) 1 : 2 : 3 (b)  3 : 4 : 15

(c) 3 : 5 : 10 (d)  5 : 6 : 10

12.

30 gm 31 gm

gm

There are 10 bangles in a gift box. The average
weight of the first 4 bangles is 30 gm and the
average weight of the remaining 6 bangles is 31
gm. Find the total average weight (in gm) of all the
bangles?

(a) 30 (b) 31.6

(c) 31 (d) 30.6

13. A : B = 4 : 3 B : C = 5 : 2 A : B : C

If A : B = 4 : 3 and B : C = 5 : 2, find A : B : C.

(a) 12 : 3 (b) 20 : 15 : 6

(c) 20 : 25 (d) 3 :1 : 2

14.

Two numbers are in the ratio 3 : 8. If 8 is added
to each number, then the ratio becomes 1 : 2. If
4 is subtracted from each number, then the ratio
will become:

(a) 7 : 2 (b) 8 : 3

(c) 2 : 7 (d) 3 : 8

15. 50 20%

50%

?

A mixture of 50 liters of fruit pulp and water contains
20% water. How much water should be added to the
mixture to increase the percentage of water to 50%?

(a) 10 litre (b) 20 litre

(c) 15 litre (d) 30 litre

16.

In what ratio must a grocer mix two varieties of tea
worth Rs.120 per kg and Rs.130 per kg, so that by
selling the mixture at Rs.136.40 per kg, he may
gain 10%?

(a) 1 : 2 (b) 3 : 4

(c) 3 : 2 (d) 2 : 5

17.

The average height of 37 telecom towers is 282 m.
If the average height of first 18 telecom towers is
282 m and that of last 18 telecom towers is 286
m. Find 19th telecome tower height?

(a) 230 (b) 220 

(c) 200 (d) 210 

18.

Average score of 11 players of a cricket team in
a one day match is 32. The runs scored by the
ten players are 11, 51, 2, 96, 21, 33, 0, 32, 9 and
14. What is the score of 11th player?

(a) 96 (b) 91

(c) 83 (d) 79

19. A B 12

B C 15

A C 20

A, B C

A and B together can do a piece of work in 12 days.
B and C together can do the same work in 15 days,
A and C together can do the same work in 20 days.
If A, B and C work together then in how many days
will the work be finished?

(a) 8 days/ (b) 5 days/

(c) 4 days/ (d) 10 days/

20.

7 men working 7 hours a day can pack 14 boxes in 6
days. How many days will it take for 14 men to pack
18 boxes if they work for 9 hours per day?

(a) 5 (b) 3

(c) 4 (d) 2

21. A B

Pipe A can fill a tank in 792 minutes and Pipe B
can empty the same tank in 990 minutes. If both
pipes are opened together, how many hours will it
take to fill the empty tank?
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(a) 70 (b) 68

(c) 72 (d) 66

22.

Excluding stoppages, the average speed of a bus  is
60 km/hr and including stoppages, the average
speed of the bus is 40 km/hr. For how many minutes
does the bus stop per hour ?

(a) 120 (b) 20 

(c) 40 (d) 30 

23.
10
11

Tellyn moves at a speed of 
10
11

 of normal speed

and takes 13 minutes more than normal time. Find
the usual time taken

(a) 130 (b) 120 

(c) 140 (d) 150 

24.

The ratio of arms to a quadratic area is 2 : 3 : 4 : 5
and the perimeter is 546 cm. Find out the smallest
arm. (In cm)
(a) 80 (b) 78
(c) 76 (d) 82

25.

Two trains start at the same time from two stations
and proceed toward each other at the speed of 40
km/h and 45 km/h, respectively. When they meet,
it is found that one train has travelled 20 km more
than the other. Find the distance between the two
stations.

(a) 390 km (b) 400 km

(c) 395 km (d) 340 km

26.

If the radius of a circle is fourteen times, how much
longer is the perimeter of the perimeter?

(a) 13 (b) 16

(c) 15 (d) 14

27.

5
6

A person can row at a speed of 11 km/h. in still

water. The speed of the stream is 
5
6

m/s. How much

time will he take to row a distance of 36 km
upstream?

(a) 4  20 (b) 4 36 

(c) 4  30 (d) 4 15 

28. 2, 3, 8, 7, 5 

125 

How many five-digit numbers can be formed using
the digit 2, 3, 8, 7, 5 exactly once such that the
numbers is divisible by 125?

(a) 0 (b) 1

(c) 4 (d) 3

29.

Which greatest four digit number is exactly
divisible by 24, 40 and 48?

(a) 9990 (b) 9980

(c) 9960 (d) 9840

30.

What is the largest number which can divide
187, 233 and 279, leaving the same remainder
in each case?

(a) 30 (b) 36

(c) 46 (d) 56

31.
4 7 6 5

, , ,
5 8 7 6

/

in ascending order is

(a)
4 7 6 5

, , ,
5 8 7 6

(b)
7 6 5 4

, , ,
8 7 6 5

(c)
4 5 6 7

, , ,
5 6 7 8

(d)
5 6 7 4

, , ,
6 7 8 5

32. 2 2

(143 ÷13 × k – 3 × 3)
= 1

(6 – 7 × 5+ k )

 k

Which of the following options can be the value of k.

2 2

(143 ÷13 × k – 3 × 3)
= 1

(6 – 7 × 5+ k )

(a) 2 (b) 4

(c) 3 (d) 1

33. 25 3
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25 3  cm If the cuboid is melted by making the

cuboid, then its height will be, if the length of the
cuboid is equal to the arm of the cube and the
width of the cuboid is 12.5 cm. (from cm)

(a) 51

(b) 53

(c) 50

(d) 52

Directions: Study the following line graph carefully
and answer the questions given below it.

The line graph compares the Income and
Expenditure of a company for the given years.

= ×100

Profit = Income – Expenditure,

% Profit = 
Profit

×100
Expenditure

 

300

350

250

200

100

50

0

Income

Expenditure

120

70

2015-16

150

65

2016-17

230

175

2017-18

325

280

2018-19

270

245

2019-20

/Income /Expenditure

34.
What is the average income (in crore) for the given
years?
(a) 219 (b) 218
(c) 217 (d) 216

35.
Find the profit percentage in the year 2015-2016.
(a) 74.3% (b) 71.42%
(c) 67.5% (d) 72.28%

1.(a) 2.(b) 3.(b) 4.(b) 5.(b) 6.(d) 7.(c) 8.(c) 9.(a) 10.(b)

11.(d) 12.(d) 13.(b) 14.(c) 15.(d) 16.(c) 17.(d) 18.(c) 19.(d) 20.(b)

21.(d) 22.(b) 23.(a) 24.(b) 25.(d) 26.(d) 27.(c) 28.(c) 29.(d) 30.(c)

31.(c) 32.(d) 33.(c) 34.(a) 35.(b)

ANSWER KEY
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SOLUTIONSSOLUTIONS

1. (a)

 = 13%

 = 87%

= 
4611

13
87

  = 689

2. (b)

=x – y – 
y

100

x

= 21 – 21 –
21 21

%
100



= – 4.41%

= 4.41% 

3. (b)

80 90

90 100




 = (100 – 90) = 10

 = 
10

100 12.5%
80

 

4. (b)

C.P. 100 – D%

M.P. 100 P%




C.P. 90

1000 120
  C.P. = 750 

5. (b)

   C.P.                    M.P.

(100 – D%)         (100 + P/L%)

100 – 20             100+20

80             120
:

:

:

2               :               3

2 21100

3 
21100

3
2

 

= 10550 × 3 =   31650

6. (d)

100 –

100
  

  





100 –10

1500 100 20



  

  = 
90 1500

120



 = 1125 

7. (c)

= 
P R T

100

 

= 
4600 8 5

100

 
 = 1840

= 4600 + 1840 = 6440

= 
6440

2
= 3220

= 6440 – 3220 = 3220 

8. (c)

P + 
P r 3

100

 
 = 

P 19 r

100

 

P = 
16Pr

100

 (r) = 6.25 %

9. (a)

(P) = 80,000

 (R) = 5%

 = 8200

1

105 88200

100 80000
     

11
2

21 441 21

20 400 20

                

 = 2 
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2 2

:

80000 : 80000 8200

80000 : 88200

400 : 441

:(20) (21)



10. (b)

36 = 729

×

× 

11. (d)

A B C

1 : 2

::

:: 3 : :: 5 :
5

2
3

2
1 : 2 1  :  2 4  :  8

4 : 16 12 : 12 20 : 20

:20 24 40

::

:

:5 6 10:

12. (d)

= 4 × 30 + 6 × 31 = 306

= 
306

10
= 30.6

:

= 31
–1 4

10


 = 30.6

13. (b)

 A B C

4 5 : 5 3 : 3 2

20 : 15 : 6

  

14. (c)

3x 8x 

3 8 1

8 8 2

x

x





6x+ 16 = 8x + 8
2x = 8, x = 4

 = 3x = 3 × 4 = 12

         8x = 8 × 4 = 32

= 
12 – 4 8 2

32 – 4 28 7
 

15. (d)

50%

20% 100%

50 30


50 50

30 x


x = 30 

1010 40
1(

4040
1)×40
4040







30

16. (c)

 = 
10

136.40
11



= 12.4 × 10 = 124 

124

120 130

46

3 2:

I II

17. (d)

= x

(18 × 282) + x + (18 × 286) = 37 × 282

5076 + x + 5148 = 10434

x = 10434 – 10224

x = 210

= 282 – 4 × 18
= 282 – 72 = 210

18. (c)

deviation :-

11 :-

32 + (32 – 11) + (32 – 51) + (32 – 2) + (32 – 96) + (32 – 21)
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+ (32 –  33) + (32 – 0) + (32 – 32) + (32 – 9) + (32 – 14)

= 32 + 21 + 19 + 30 – 64 + 11 – 1 + 32 + 0 + 23 + 18

= 167 – 84 = 83

11 51 2 96 21 33

0 32 9 14
32

11

x

    
    



 x = 352 – 269 = 83

SMART APPROACH:- 

19. (d)

 = 60 

A + B = 12 5
4 60 

3

B+ C = 15

A + C = 20

A, B  C 

= 
60 2

12


= 10 

20. (b)

2 2 21 1 1

1 2

M D TM D T

W W


,

7 6 7

14

 
 = 

214 D 9

18

 

D
2
 = 3 

21. (d)

792, 990  = 3960

    

3960

–45

A
792 990

B

A B 

= 

3960 3960
= 66

5 – 4 1×60
 

22. (b)

 = 60 

  = 40 

 = 60 – 40 = 20 

= 
2 0 1

6 0 3
 = 20 

23. (a)

11

   = 11  :  10

 = 10  :  11

11 – 10 = 1

 1 = 13

 10 10 × 13 = 130

 130

24. (b)

2 : 3 : 4 : 5

= 546

2x + 3x + 4x + 5x = 546

 14x = 546

546
  = 

14
 x

 x  39

2x = 2 × 39 = 78

25. (d)

40
45

x x+20

C

C 

= 
20

40 45




x x

 9x = 8x + 160

x = 160

= 160 + 160 + 20

= 340 .

26. (d)

r 

= 2r

= 14r

= 2 × 14r

= 28r

= 
28 r

2 r


  = 14 

27. (c)

 
5 18

=
6 5
  = 3 /

 = 11 /

 = (11 – 3) = 8 /

 =
36 4

= 4
8 8

 = 4  30 
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28. (c)

125 

125 

125 
125, 250, 375, 500, 625, 750, 875, 1000
2, 3, 8, 7, 5
23875
32875
28375
82375

4
29. (d)

 24, 40, 48 = 240

 = 9999

240 9999 27
960
399
240
159

= 9999 – 159 = 9840
30. (c)

233 – 187 = 46
279 – 233 = 46
279 – 197 = 92

 = 46
31. (c)

 32 < 35

 28 < 30

 24 < 25

 48 < 49

 35 < 36

7

8

6

7

5

6

6

7

7

8

4

5

4

5

4

5

5

6

6

7

4 5 6 7

5 6 7 8
  

32. (d)

2

143
K – 9

13 1
36 – 35 K






2

11K – 9

1 K
 = 1

1 + K2 = 11K – 9

K2 – 11K + 10 = 0

K = 1, or 10,

Option (d) Satisfied

K = 1

33. (c)

= 3 a

 3 a = 25 3

a =  25 

l = a

l = 25 

l × b × h = a3

25 × 12.5 × h = 25 × 25 × 25

 h =
25 25 25
25 12.5
 



h = 50 

34. (a)

= 
(120 150 230 325 270)

5

   
 = 

1095

5
 = 219

35. (b)

= –  = 120 – 70 = 50

% = 
50

70
 × 100 = 71.42%
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Aditya Ranjan Sir

1.

What percentage of 3 meters is 75 cm?
(a) 20% (b) 24%
(c) 22% (d) 25%

2.

When the price of an article is increased by 20%, the
Gupta family rearranges its monthly budget in such
a way that only 8% additional money is spent on the
said article. By what percent should they reduce the
consumption of that article to manage the increased
amount?
(a) 14 (b) 8
(c) 10 (d) 12

3.

A shopkeeper sells two articles for Rs 594 each. In
which a profit of 10% is earned on one item and a
loss of 10% is earned on the other, then find the
total profit or loss percentage.
(a) 4% Loss (b) 1% Loss
(c) 1% Profit (d) 4% Profit

4.

A man sold two chairs for Rs 475 each, gaining 25%
on one and losing 20% on the other. Had he sold
the two chairs for Rs 575 each, what would have
been his gain/loss percentage (rounded off to the
nearest integer)?
(a) 45% gain (b) 18% gain
(c) 41% gain (d) 25% loss

5.

 21500  
A tradesman marks the price of his goods such that
after allowing a discout of 20% he earns a profit
of 20%. What is the marked price of an article if
cost price is  21500? (in )
(a) 32150 (b) 32250
(c) 32350 (d) 32450

6.

The marked price of a book is Rs.1100. A
bookseller gives a discount of 10% on it. What
will be the cost price (in Rs.) of the book if he
still earns 20% profit?

(a) 815 (b) 845

(c) 825 (d) 835

7.

A sum of Rs.5600 was invested at simple interest
at the rate of 8% per annum. If the amount is
withdrawn after 5 years and half of the total
amount is invested in the stock market. Find
the remaining amount. (in Rs.)

(a) 3820 (b) 3920

(c) 3720 (d) 3620

8.

The amount doubles itself under compound
interest in 15 years. In how many years will it
become 4096 times of it? (In years)

(a) 170 (b) 180

(c) 190 (d) 160

9.

A sum of Rs.9,960 was borrowed at 7.5% per annum
compound interest and paid back in two equal
annual instalments. What was the amount of each
instalment?

(a) Rs. 5,475 (b) Rs. 5,547

(c) Rs. 5,745 (d) Rs. 5,457

10.

25 : 24
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Sohail started a business with Rs.2250 while
Trishala invested some amount after 3 months.
If at the end of 12 months (from Sohail's
investment), Sohail and Trishala share the profit
in the ratio 25 : 24, then how much did Trishala
invest?

(a) 2160 (b) 2480 

(c) 2880 (d) 2920 

11. A, B, C D

B D

C B D

A B B

C A D

The amount of profit divided among four persons.
A, B, C and D as follows. B gets third part and D
gets 7th part. C get average of B and D and A gets
two-third of B's share. If C's share exceeds B's
share by  324. then what is the sum of A's share

and D's share?

(a)  1750 (b)  1458

(c)  1673 (d)  1568

12.

The ratio of milk and water in 77 liter mixture is 3 :
4. If this ratio changes to 3:5, find the amount of
additional water added to the mixture. (in litres)

(a) 12 (b) 11

(c) 13 (d) 14

13.

Income of Tina and Seena is in the ratio of 2 : 3
and their expenditures are in ratio of
3 : 5. If each saves 1,000, then Teena’s income
is:

(a) 4,000 (b) 5,000

(c) 6,000 (d) 8,000

14. 60 20%

20

8

60 liters of a mixture of alcohol and water
contains 20% water. If 20 liters of this mixture
is taken out and then 8 liters of alcohol is added
to the remaining mixture, then what is the
percentage of water in the final mixture?

(a) 14.58% (b) 25.67%

(c) 16.67% (d) 30.00%

15.

The ratio of salaries of Hameed, Christo and Ganesh
is 3 : 5 : 7 respectively, if Ganesh is getting 892
more than Hameed then what is the salary of
Christo? (in )

(a) 1,145 (b) 1,115

(c) 1,125 (d) 1,135

16.

The average runs scored by a cricket player in 17
innings is 34. How many runs should he score
in his next innings to increase his average by 5
runs?

(a) 170 (b) 180

(c) 124 (d) 168

17.

A batsman makes a score of 97 runs in 15th
inning and thus increases his average by 5. Find
his average after 15th inning.

(a) 15 (b) 82

(c) 27 (d) 92

18. A B

A, B C

A B

C C

A and B can do a piece of work in 24 days and
12 days respectively. A, B and C together can do
the same work in 4 days. If the work is started
by A and B together and they work for only 3
days, and after that the remaining work is
finished by C alone, then for how many days did
C work?

(a) 4 days/ (b) 5 days/

(c) 3 days/ (d) 6 days/

19. A

B

A B

A can complete a piece of work in 24 days. He
worked for 21 days and then B finished the
remaining work in 5 days. In how many days can
A and B together finish the work?

(a) 45 days (b) 40 days

(c) 15 days (d) 24 days
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20.

10 men can complete a task in 18 days. After 6
days, 5 more men join. In how many days the
remaining work will be completed?
(a) 6 (b) 12
(c) 10 (d) 8

21. 97 

21 23 

A thief is noticed by a policeman from a
distance of 97 m. The thief starts running and
the policeman chases him. The thief and the
policeman run at a speed of 21 m/sec and 23
m/sec respectively. What is the time taken by
the policeman to catch the thief?
(a) 40 (b) 45 

(c) 62.5 (d) 48.5 

22.

Two trains with speeds of 70 kmph and 80 kmph
respectively run in opposite directions between
Delhi and Agra. If at the time of meeting of 2
trains it is found that one train traveled 40 km
more than the other, then what is the distance
between Delhi and Agra?
(a) 420 km (b) 500 km
(c) 600 km (d) 450 km

23.

A train takes 27 seconds to cross the signal at
one end of a 650 meter long bridge. If that train
takes 92 seconds to cross that bridge, then the
length of that train is. (in meters)
(a) 270 (b) 250
(c) 240 (d) 260

24.

A train travelling at the speed of 65 km/h leaves
Bombay at 10:00 A.M. and another train
travelling at the speed of 76 km/h starts at 12:00
P.M. in the same direction. At what distance (in
km) from Bombay will they be together?

(a) 925 km (b) 988 km
(c) 898.18 km (d) 1,000 km

25.

A person travels around the edge of an equilateral
triangular field at speeds of 12 km/hr, 24 km/hr and
10 km/hr. Find his average speed.

(a) 14.33 (b) 13.33 

(c) 15.33 (d) 12.33 

26. 'D' 

'D + 2' 

A boat takes 8 hours to cover 'D' km in upstream and
takes 6 hours to cover 'D + 2 km. in downstream. If
speed of stream is 3 km/h, then find distance
covered by boat in upstream in 2 hrs.
(a) 34 (b) 48 

(c) 32 (d) 56 

27.

A sailor takes 12 hours to cover a distance of 75 kms
against the current, while he takes 7.5 hours to cover
the same distance in the direction of the current what
is the speed of the current?

(a) 8.425 (b) 6.625 

(c) 6.25 (d) 1.875 

28.

Which of the following is divisible by 24?

(a) 2940 (b) 2856
(c) 1458 (d) 1860

29. (HCF) x

x _____
If the HCF of 328, 451 and 697 is x, then the value
of x will lie between _____.

(a) 48 52 (b) 44 48

(c) 36 40 (d) 40 44

30.
2 2(589 +187) - (589 -187)

= ?
589×187

(a) 4 (b) 766

(c) 402 (d)
201
388

31. /Solve this
3 3 3

÷ × 97 7 7 ÷
3 3 3 49÷ of
7 7 7

(a) 1 (b)
40
49

(c)
9
49

(d) 10
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32.

A rectangular park is 110m long and 70m wide. Two
cross paths, each of width 6 m, are constructed
parallel to the sides. If the cost of construction of
these paths is Rs. 175/m2, then what is the total
cost (in Rs.) of construction of these paths?
(a) 178250 (b) 182700
(c) 197200 (d) 187520

33.

By increasing the radius of a circle by 6 times,
its circumference will increase by how many
times from its previous circumference?
(a) 8 (b) 5
(c) 6 (d) 7

34.

Directions: Study the following graph carefully and
answer the questions given below. The given line
graph represents the number of graduates from six
different states in a year (In lakhs).

50

45

40

35

30

25

20

15

10

5

0
P Q R S T U

N
o.

of
gr

a
d
u

a
te

s
(in

la
k
h

s)

/States

U R

Find the difference in number of graduates of
State R and U. (In lakhs)
(a) 10 (b) 13
(c) 12 (d) 11

35.

Find the smallest square number from among the
given option which is divisible by each of 8, 15 and
20.

(a) 3600 (b) 6400

(c) 14400 (d) 4900

1.(d) 2.(c) 3.(b) 4.(b) 5.(b) 6.(c) 7.(b) 8.(b) 9.(b) 10.(c)

11.(b) 12.(b) 13.(a) 14.(a) 15.(b) 16.(c) 17.(c) 18.(b) 19.(c) 20.(d)

21.(d) 22.(c) 23.(a) 24.(c) 25.(b) 26.(a) 27.(d) 28.(b) 29.(d) 30.(a)

31.(a) 32.(b) 33.(c) 34.(a) 35.(a)

ANSWER KEY

           BACK TO INDEX

https://bit.ly/3t9twKX
https://www.instagram.com/aditya___ranjan?igsh=MXVkYTJodHhsZzd5aQ==
https://t.me/mathsbyadityaranjan


Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected Selection 53

SOLUTIONSSOLUTIONS

1. (d)
3 = 300 

% =
75

100
300

 =25%

2. (c)

 =  × 

100

108
 = 

4

5
 × y

x

y

x
 = 

10

9

%   = 
1

10
 × 100 = 10%

:

100 120

108

+20

–12+8

%   = 
12

100
120

  = 10%

3. (b)
C.P. : S.P.

10 : 11) × 9      ....(1)

 10 : 9) × 11     .....(2)

S.P. 




90     :   99

110   :   99

C.P.   :   S.P.

200   :  198

 = 
–2

200
 × 100 = – 1%

% = 
100



% = 
10 10

100


 = 1% 

4. (b)

25% = 
1

4
, 

1
20%

5


CP SP
(4     : 5) × 4
(5     : 4) × 5

CP SP

16 20

25 20

41 20  475

:

:

× 41 
475

20

 = 575 × 2 – 
475

41
20



= 
19 41

25 23 2 –
20

  
 

= 176.25

% = 
176.25

20 100 18%
475 41

  


5. (b)

D% = 20,     P% = 20%
   C.P.        :        M.P.
(100 – D%) :   (100 + P%) 
(100 – 20)   :   100 + 20
     80         :       120

2           :        3

2 =  21500

1 =  10750

 3 = 3 × 10750 =  32250

6. (c)

100 –

100



  

100 –10

100 20



 

 = 
90 1100

120



 = 825 

7. (b)

P R T

100

 


5600 8 5

100

  = 2240

= 5600 + 2240 = 7840

7840

2
 = 3920 
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= 7840 – 3920

= 3920 

(P) (A)

(100%) (140%)

Rs.5600 Rs.7840

×56 ×56

 = 
7840

2
= Rs.3920

8. (b)

 = 15 

4096  = 212  = 15 × 12 = 180 

 
9. (b)

= 7.5% = 
3

40

I 

II 

(40 43)×43 

1600 1849

:

:

:3320 1849
      3320      9960

1849      5547 .
10. (c)

:
2250 × 12 : x × 9 = 25 : 24

2250 12 25

9 24




x

x = 24 × 120 = 2880 

2880 
11. (b)

A B C D
2 3 5 7

+2
,

2   324

, A + D (9 ) 
324

2
× 9

(A + D)  = 1458 
12. (b)

= x

 3 3
77 77

7 8
x  

11 × 8 = 77 + x
x = 88 – 77 = 11 

3

3

4

5

:

:
1 
= 7 

×11

77

×11

11

SMART APPROACH:- 

13. (a)
T S

(2 3) 2

4 6

3 5

1000 1000



 (1 )  1000

(4 )  4000

T S
2 3

3 5

+1000 +1000

(10 – 9) = 5000 – 3000

1 = 2000

2 = 2000 × 2 = 4000 
14. (a)

80%20%

12 48

112 – 20
4
 348– 20

4
= 7 = 33

7 + 0 33 + 8= 7 = 41

60

I 

II 
= 7 + 41 = 48

% = 
7

48
× 100

= 14.58%

 14.58% 
15. (b)

16. (c)

= 17 × 34 = 578

= 18 × 39 = 702
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= 702 – 578 = 124

= 17 × 5 + (34 + 5) 

= 85 + 39 = 124 

17. (c)

15 

= 97 – 14 × 5 = 27 
18. (b)

24, 12,  4 = 24

A   24 1
2 24 

6

B   12

A + B + C   4

C  3 

 = 24 

,

3(A + B) + x (C) = 24
9 + 3x = 24

x = 
15

3
= 5 

19. (c)

A × 24 = A × 21 + B × 5

A × 3 = B × 5

A 5

B 3


A : B

5 : 3

= 5 × 24 = 120

A B =
120

8
= 15

20. (d)

,
10 × 18 = 10 × 6  + (10 + 5) × D
180 = 60 + 15D
120 = 15D

D = 8 
21. (d)

 = 23 – 21 = 2 /

= 
97

2
= 48.5 

22. (c)

 

A B

70 80

B  – A = 40 

't'

80t – 70t = 40

t = 4 

   (70 + 80) × 4 = 600

23. (a)

 condition 

  = y m

 
650

27 92

y y

92y = 17550 + 27 y

92y – 27y = 17550

65y = 17550

y = 270 

24. (c)

10 : 00

65 /  

76 /  

130

12 : 00

 = (76 – 65)

= 11 /

 = 65 × 2 = 130 

 = 
130

11
 

  = 
130

76
11



= 898.18 

25. (b)

x 

=  = 
3

12 24 10
 

x
x x x

= 
3 120 3 120 120

10 5 12 27 9

x x

x+ x+ x x

 
 

= 13.33 

26. (a)

 = B

= 3 /

,
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D
= 8

B – 3

D = 8 (B – 3)  ....... (i)

D 2
= 6

B 3




D = 6 (B + 3) – 2   ...... (ii)

(i) (ii)

B = 20 /

 = (20 – 3) × 2 = 34 

27. (d)

 (D)

= 
75

7.5
 = 10 

 (U)

= 
75

12
 = 

25

4
 

 = 
D – U

2

= 

25
10

4
2

   
 = 

15

8

= 1.875 

28. (b)

24 = 8 × 3

(b) 2856, 

29. (d)

328, 451, 697 

41 × 8,    41 × 11,   41 × 17

x =  = 41

 40 44

30. (a)
2 2(589 187) (589 187)

589 187

  


 = ?

 (a + b)2 – (a – b)2 = 4ab

= 
4 589 187

589 187

 
  = 4

31. (a)

3 3 3
7 7 7
3 3 3

of
7 7 7

 


 ÷ 

9

49
 = 

3
1

7
3 9
7 49




 ÷ 

9

49
 = 

3
7

3 49
7 9


 ÷ 
9

49
 = 

3

7

× 
3

7
 ÷

9

49
  = 1

32. (b)

 = 110 × 6 + 70 × 6 – 6 × 6 = 660 + 420 – 36

= 1080 – 36 = 1044 2

= 1044 × 175  = 182700 

 = x (l + b – x) = 6 × (110 + 70 – 6)

= 6 × 174

= 1144 2

= 1044 × 175  = 182700 

33. (c)

= 2r

6 6

34. (a)

(R) =  45

(U) =  35

 = (45 – 35) = 10

35. (a)

8 = 2 × 2 × 2

15 = 3 × 5

20 = 2 × 2 × 5

 = 2 × 2 × 2 × 3 × 5 = 120

(a)
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Aditya Ranjan Sir

1.

In a college of 27000 students are there, in which
75% are boys. If 50% of the girls and 70% of the
boys failed the examination, then find the number
of students who passed in the examination.
(a) 9650 (b) 9450
(c) 9350 (d) 9550

2.

If the increase in the percentage of the consump-tion
of a commodity is 25% so that overall budget does not
change, then the price of the commodity falls by:
(a) 35% (b) 25%
(c) 20% (d) 30%

3.
3
4

One item bought for  600. If 
3
4

part of the material

is sold at a profit of 10% and the rest at a loss of
20%, find the percentage of the overall profit or
loss.
(a) 3% (b) 4% 
(c) 2.5% (d) 5% 

4.

One third of the goods are sold at 15 profit % , 25%
of the goods are sold at 20 %  profit and the
remaining goods are sold at 10% loss. If a profit of
Rs. 350 is made in the whole transaction, then what
was the original cost (in Rs) of the goods?
(a) 9,000 (b) 7,200
(c) 5,400 (d) 6,000

5. 20,750

The selling price of the table is 20,750 after a
discount of 17%. If the cost price is 70% of the
marked price, then what is the cost price? (in )
(a) 17500 (b) 17300
(c) 17400 (d) 17200

6.

Two successive discounts, with the first being 10%,
were given on an article having the marked price
of Rs. 7,500. Finally, it was sold for Rs. 5,805. What
percent was the second discount?
(a) 16% (b) 15%
(c) 14% (d) 12%

7.

Arun, Bala, Chandru enter into a partnership. Arun
contributes one-third of the whole capital while Bala
contributes as much as Arun and Chandru together
contribute. If the profit at the end of the year is
Rs. 84000, how much would Chandru receive? (in
Rs.)
(a) 14000 (b) 42000
(c) 28000 (d) 16000

8.

Somu borrowed a sum of Rs. 10,000 from a
moneylender at the rate of 7% per 6 months simple
interest. What is the amount he has to pay to the
moneylender after 3 years?
(a) Rs. 13,000 (b) Rs. 12,500
(c) Rs. 14,200 (d) Rs.12,100

9.

If the amount charged at 8% compound interest is  7500
is to be paid in equal annual installments for 3 years, then
find the estimated annual instalment.
(a)  3013 (b)  2867
(c)  2728 (d)  2910

10.

An amount of 8,00,000 is needed after 2 years to
buy a car. The amount deposited in a bank gives
8% per annum interest. What should be the
approximate amount to be deposited in present in
the bank to meet the requirement; if the interest
is compounded annually?
(a) 4,55,567 (b) 5,66,647
(c) 6,85,871 (d) 6,44,457
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11.

Sathi and Rathin invested some money in a business
in the ratio 6 : 5, but Sathi withdraw her money after a
few months. If the end of twelve months' profit was
shared between Sathi and Rathin in the ratio 7 : 10, for
how many months did Rathin alone invest?
(a) 4 (b) 5
(c) 6 (d) 7

12. A B

A

B

Two persons A and B invested in a business with
Rs.170100 and Rs.97200 respectively. They agree
that 40% of the profit should be divided equal
between them and remaining according to their
investment. If A got Rs.2727 more than B, then find
the total profit. (In Rs.)
(a) 17665 (b) 15665
(c) 16665 (d) 18665

13. 10, 18, 14 26

What should be subtracted from 10, 18, 14 and 26
so that the resulting numbers become proportional?
(a) 8 (b) 6
(c) 4 (d) 2

14.

615 coins consists of 1 rupee , 50 paise and 25
paise coins. Their values are in the ratio of 3 : 5 :
7, respectively. Find the number of 50 paise coins.
(a) 150 (b) 180
(c) 160 (d) 170

15. 6 

16 : 9

6 litres are drawn from a cask full of wine and is
then filled with water. This operation is performed
once more. The ratio of the quantity of wine now
left in cask to that on the water is 16 : 9. How much

wine the cask hold orginally? (in litres)
(a) 26 (b) 28
(c) 24 (d) 30

16.

The ratio of milk and water in two containers of 20
litres and 36 litres are in the ratio 3 : 7 and 7 : 5,
respectively. What will be the ratio of milk and
water if the two containers are mixed together?
(a) 9 : 13 (b) 21 : 23
(c) 27 : 29 (d) 21 : 25

17.

The average weight of a kabaddi team of 121 play-
ers is 71 kg. If the weight of the manager is in-
cluded, then the average increases by 1kg. Find the
weight of manager.
(a) 195 (b) 193
(c) 191 (d) 197

18.

A park had an average of 30 children playing on
weekdays and an average of 60 children playing on
weekends. Find the average number of children
playing per day in the park for the month of June
beginning with a Saturday.
(a) 45 (b) 60
(c) 40 (d) 30

19. A B

A B

A and B can do a piece of work in 25 days and 20
days respectively. They start the work together
but after 10 days, A leaves. Remaining work is
completed by B alone. Find the total number of
days taken to complete the work?

(a) 15 days/ (b) 10 days/

(c) 12 days/ (d) 8 days/

20.

Suraj can complete a certain work in the same time
as Manoj and Rajesh together can complete it. If
Rajesh alone can complete the work in 28 days and
Suraj and Manoj together can complete the work
in 14 days, then in how many days can Manoj alone
complete the work?
(a) 60 (b) 45
(c) 42 (d) 56
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21. A 64 B

96 C

128

Pipe A can empty a tank in 64 minutes, Pipe B can
fill the same tank in 96 minutes and Pipe C can fill
the same tank in 128 minutes. If all three pipes are
opened together. How many minutes will it take to
fill the empty tank?
(a) 364 (b) 374
(c) 384 (d) 394

22.

45 pillars are standing in a line such that distance
between any two consecutive pillars is same. A car
travelling with uniform speed of 72 km/h takes 18
seconds to reach from 1st pole to 10th pole. What is the

distance  (in metres) between 10th and 31st pole ?
(a) 800 (b) 820
(c) 840 (d) 910

23. A B

B A

Ravi covers a distance of A place B by cycle at 22
km/h. However, he travels from place B to place A
on foot at 7 km/h. What will be his average speed
for the whole journey?
(a) 18 km/hr (b) 14.5 km/hr
(c) 11.9 km/hr (d) 10.6 km/hr

24.

A student walks at a speed of 5 km/h. When he
increases his speed to 6 km/h, he reaches the school
20 minutes earlier. Find the distance covered by the

student.
(a) 12 km (b) 15 km
(c) 8 km (d) 10 km

25.

Two trains leave at the same time in opposite
directions from two stations located at a distance
of 300 km from each other. Both the trains cross
each other at a distance of 180 km from the same

station. What is the ratio of their speed?
(a) 4 : 3 (b) 3 : 2
(c) 3 : 4 (d) 2 : 3

26.

Three runners Aman, Ramesh and Naresh run a race,

with Aman finishing 48 metres ahead of Ramesh and
68 metres ahead of Naresh. In another race of same
length, Ramesh finishes 25 metres ahead of Naresh.
Each runner travels the entire distance at a constant

speed. Find the length of the race.

(a) 240 metres/ (b) 242 metres/

(c) 244 metres/ (d) 248 metres/

27.

Ratio between speed of boat in still water to speed of

stream is 7 : 3. In downstream, boat can cover 180
km in 4 hours then find the difference between speed

of boat in still water and speed of stream.

(a) 9 / (b) 12 /

(c) 15 / (d) 18 /

28. 9, 14  16 

10 11 

The smallest number when divided by 9, 14 and 16
leaves a remainder 10. Find the remainder when the
same number is divided by 11.
(a) 12 (b) 6
(c) 10 (d) 8

29.

The average of the first four prime numbers that are

odd is:

(a) 4.6 (b) 4
(c) 6 (d) 6.5

30.

Three runners start running on a circular track.

They start from the same point at 6 AM and take
12 seconds, 15 seconds and 24 seconds respectively
to finish 1 round. At what time will they meet again

at the starting point?

(a) 6:03:20 AM (b) 6:02:30 AM
(c) 6:01:40 AM (d) 6:02:00 AM
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31.

72 ÷ [38 – {30 – (31 – 60 ÷ 4 × 5)}] = ?

What is the value of

72 ÷ [38 – {30 – (31 – 60 ÷ 4 × 5)}] = ?

(a) –2 (b) –3

(c) –4 (d) –8

32. 72 ÷ 16 of 3 – [28 ÷ 6 of 4 – 20 ÷ 7 × (23 – 37) – 41]

× 
1

1
2

Find the value of 72 ÷ 16 of 3 – [28 ÷ 6 of 4 – 20 ÷

7 × (23 – 37) – 41] × 
1

1
2

.

(a)
5
8

(b) 1

(c)
5
4

(d)
3
2

33.

  
 

2 2

=
7

A hemispherical dome of a tomb having diameter

of 3.5 m is to be painted. If the cost of painting is

20 paise per cm2, then what is the cost (in ) of

painting the dome from inside?

  
 

22
Take =

7

(a) 38,500 (b) 35,000

(c) 28,500 (d) 25,000

(34-35):

Direction: Study the pie chart and answer the

questions given below.

The chart shows the sales of different brands of the

washing machines in Mumbai.

= 85000

Total number of Washing machines sold = 85000

10%
Q 25%

M

30%
N

15%
O

20%
P

34. N Q

What the total number of washing machines of Brand

N and Brand Q sold together?

(a) 32000 (b) 34000

(c) 26000 (d) 28000

35. M P

Find the difference between number of washing

machines of brand M and brand P sold.

(a) 4250 (b) 4300

(c) 4150 (d) 4200

ANSWER KEY
1.(b) 2.(c) 3.(c) 4.(d) 5.(a) 6.(c) 7.(a) 8.(c) 9.(d) 10.(c)

11.(b) 12.(c) 13.(d) 14.(a) 15.(d) 16.(c) 17.(b) 18.(c) 19.(c) 20.(d)

21.(c) 22.(c) 23.(d) 24.(d) 25.(b) 26.(a) 27.(d) 28.(b) 29.(d) 30.(d)

31.(a) 32.(c) 33.(a) 34.(b) 35.(a)
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1. (b)

= 27000

= 
75

27000
100



=  20250

= 27000 – 20250
= 6750

30% 

= 20250 ×  30% = 6075

50% 
= 6750 ×  50% = 3375

= 6075 + 3375 = 9450

35 27000
100

 = 9450=

3 : 1

50%30%

x%

= (50 – 30)%= 20%
= 15%

x = (50 – 15)% = 35%

SMART APPROACH:- 

2. (c)
 =  × 

  
,

  
1

25% = 
1

4
  4 : 5

  5  : 4

 = 
1

100
5


= 20%

100 125

100

+25%

–25

% = 
25

100
125

 = 20%

3. (c)
3
4

4

     3
+10%

1
– 20%

3 × 10%      1× –20%
= 30%          – 20%
= 30% – 20% = 10%

= 10% =
10%

4
= 2.5%

4

4. (d)

4 : 3 : 5 = 12

+15% +20% –10% = 2

60% 60% –50% = 12x

12x = 60% + 60% – 50%

 x ( ) = 
70

%
12

70
%

12
  350

100%  6000 
5. (a)

(M.P.) = 100%

(C.P.) = 70%

(S.P.) = 100% – 17% = 83%

83% = 20750

 70% = 
20750

70
83



=  17500
6. (c)

x 

9 100 –
7500 5805

10 100
  

x

9
75 (100 – ) 5805

10
  x

100 – x = 86
x = 14%

7. (a)

= 
1

84000 28000
3

 

 = 
1

84000 42000
2

 

= 84000 – (28000 + 42000)
= 84000 – 70000
= Rs. 14000

SOLUTIONS
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8. (c)
,

(P) = 10000, (T) = 3 

(R) = 7% ( )

(R) = 7% × 2 = 14% ( )

,

(SI) = 
P R T

100

 
 = 

10,000 14 3

100

 
 = 4200

(A) = (P) + (S.I)

(A) = 10,000 + 4200
= 14200

9. (d)

% = 8% 
2

25


27 × 27 × 25 

27 × 25 × 25

25 × 25 × 25

27 × (27)²

27 × 27 × 27

27 × 27× 27

50725 19683

7500

50725
 × 19683

 2910
10. (c)

,

R = 8%,  = 800000

 = 2 

,

 = 8 + 8 +
8 8

100


 = 16.64%

 
116.64

100
 × P = 800000

  P = 
800000

116.64
× 100 = 685871 .

11. (b)
x

:
6 × x : 5 × 12 = 7 : 10

6 7

5 12 10




x

x = 7 

7

, (12 – 7) = 5

12. (c)
A : B = 170100 : 97200
= 1701 : 972 = 7 : 4

(7 – 4) = 3

2727
=

3
 = 909

 = 909 × 11 = 9999

9999  60% 100%

= 
9999

100
60

  = 16665

13. (d)

,

10 – 14 –

18 – 26 –

x x

x x


x = 2 

10 – 2 1 14 – 2

18 – 2 2 26 – 2
 

1            10 × 3 – 14 × 2
           



10       18 14       26

8                    12
2          :            3

   1  

1            2
           



14. (a)

1 : 50p : 25p

3 : 5 : 7

3 : 5 : 7
1 1
2 4

3 : 10 : 28

,

  = 41     615

 1      15

50p   = 10    150
15. (d)

 16   :  9

= 16 + 9 = 25

25    :   16

25 : 16

  
= 5 : 4

1
1  6

5  30

 = 30 

16. (c)

 = 20 × 
3

10
 = 6 

= 20 – 6 = 14

= 36 × 
7

12
 = 21

= 36 – 21 = 15

 = (6 + 21) : (14 + 15) = 27 : 29
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 I II

M
3

 ×2
6


M
7

 ×3
21


W
7 = 10

 ×2
14


W
5 = 12

 ×3
15


M
27 :

W
29

+
+

×2 ×3

::

17. (b)

71121

122 72
+1+1

 121 × 1 + 72 × 1 = 193
18. (c)

        30

     20          10

       x

       60

     2      :     1
,

60 2

30 1

x

x





 60 – x = 2x – 60   3x = 120   x = 40

19. (c)
= 100 

A   25 4

100 

5B   20

,
10(A + B) + x(B) = 100
90 + 5x = 100
x = 2
  = 12 

20. (d)

28

14

1

2

28





 – 

= 2 – 1 = 1 ( )

 +  = 2

2 ( ) = 2 – 1 = 1

 = 
1

2

28
56

1
2

 

21. (c)

64, 96, 128  = 384

A
64

384

–6
3 

C
128

B
96

4



= 
384

6 4 3  

= 
384

1
= 384 

22. (c)
= 72 / .

72 5
= 18 = 360

18




 = 9

360
= = 40

9
 = 21

 = 21 × 40 = 840 
23. (d)

 = 
1 2

1 2

2 S S

S S

 


= 
2 22 7

22 7

 
  = 

308

29

= 10.6 /
24. (d)

 = 
1 2

1 2

S S
T

S S





S

1
 = 

S
2
 = 

T = 

5 6 20

5 – 6 60

   = 10 

25. (b)

 

180 

x /
C

120

y /
C 

= 
180 120

y


x

180

y 120
x

x : y = 3 : 2
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SMART APPROACH:- 


 180 : 120

            3   :    2
            3   :    2

26. (a)
= x .

= x .

 = (x – 48) .

 = (x – 68) .

,  x (x – 25)


48

x

x




– 48

68

x

x



– (1)

68

x

x




25

x

x


  – (2)

 (1)  (2) 

– 48

68 25 


x x

x x
 x2 – 73x + 1200 = x2 – 68x
 5x  = 1200
 x = 240

27. (d)

= 7x + 3x = 
180

4
 = 45

 = 7x – 3x = 4x

= 
45

4 18
10

   /

28. (b)

9, 14, 16 10 

= 9, 14, 16 = 1008

= 1008 + 10 = 1018

1018

11
=  = 6

29. (d)
= 3, 5, 7, 11

3 5 7 11 26
6.5

4 4

  
  

30. (d)

12, 15  24 = 120  = 2 

6:02 AM

31. (a)

72 ÷ [38 – {30 – (31 – 60 ÷ 4 × 5)}] = ?

 72 ÷ 
60

38 30 31 5
4

         
   

 72 ÷ [38 – [30 + 44]]

 72 ÷ [38 – 74]

 72 ÷ (– 36) = 
72

–36
 = – 2

32. (c)

72 ÷ 16 of 3 – [28 ÷ 6 of 4 – 20 ÷ 7 × (23 – 37) – 41] ×

3

2

= 
72

48
 –  28 20

– –14 – 41
24 7
   

 × 
3

2
 = 

3

2
 – 

7
–1

6
 
  

 × 
3

2

= 
3

2
 – 

1

6
 × 

3

2
=   

3

2
 – 

1

4
 = 

5

4

33. (a)

7

4

 = 22 r

= 
22 7 7

2
7 4 4

    = 277

4
m

  = 
1 77

10000
5 4
 

= 77 × 500 = Rs. 38500

34. (b)

(N) = 30%

(Q) = 10%

= (85000 × 40%)

= 34000

35. (a)

(M) = 25%

(P) = 20%

= (25 – 20)% = 5%

= 85000 × 5% = 4250
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Aditya Ranjan Sir

1.

Only Shiva and Raju stood in the college election.
Shiva got a total of 55% of the valid votes. 20% of
the votes were invalid. If a total of 7500 votes were
cast, then how many valid votes did Raju get?

(a) 3000 (b) 3100

(c) 2900 (d) 2700

2.
1

12
2

The population of a village increases by 
1

12
2

% in

the first year and decrease by 8% in the second
year. If the present population of village is 3200,
then what will be the population of the village after
2 years?

(a) 3312 (b) 3564

(c) 3412 (d) 3388

3.

Bella sold a painting worth Rs 1450 to Teddy at a
10% profit. Teddy sold it to Benny at 10% loss. If
Benny had bought the painting from Bella at the
price at which he bought it from Teddy, what would
have been Bella's profit or loss percent?

(a) 1% (b) 2% 

(c) 2% (d) 1% 

4.

A shopkeeper sells one-fourth of his goods at a profit
of 20%, another one-fourth at a profit of 25%, and
another one-fourth at a profit of 10% and the rest
at a loss of 5%. His overall profit percentage is:

(a) 10% (b) 20%

(c) 12.5% (d) 25%

5.

After giving a discount of 20%, Sheela sells a
mobile phone for  2400 and still makes a profit of
20%. If the mobile phone had been sold without
giving any discount, what would have been the
profit percentage?

(a) 50% (b) 25%
(c) 33.33% (d) 11.33%

6.

Pankaj offers a cash discount of Rs.250 first and then
two successive discounts of 8% and 5% on the sale of
a chair. If the marked price of the chair is Rs.4,250,
what is the final price of the chair for a customer after
the given discount scheme?

(a) Rs.3,496 (b) Rs.3,550
(c) Rs.3,600 (d) Rs.3,450

7. 5%  68500 

 28 

3
4

 

 

A sum of  68500 is invested under simple interest
at rate of 5% p.a. If the amount after 28 years is been

withdrawn and 
3
4

 of the total amount invested in

share market, then find the remaining amount. (In )

(a) 41200 (b) 41100
(c) 41000 (d) 41300

8.

Vimla took a loan of Rs. 7,200 at simple interest.
The rate of interest and the period of the year have
the same numerical value. Find the rate of interest
if he had to pay an amount of Rs. 5,832 as interest
at the end of the loan tenure.
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(a) 8% (b) 9%

(c) 8.5% (d) 12%

9.

The difference between the amounts of compound
interest and simple interest earned on the same
amount in 2 years is 28. If the interest rate is 4%
per annum, then calculate the amount invested (in )?

(a) 14500 (b) 16500

(c) 18500 (d) 17500

10. %

1,600

A bank pays compound interest at the rate of 5%
per annum compounded half-yearly. A customer
deposited Rs 1,600 on each of 1st January and 1st
July in a year. The interest he gets on the amount
deposited at the end of the year is:

(a) Rs.91 (b) Rs.121

(c) Rs.132 (d) Rs.88

11. 8 : 3

5 : 4

Suhas and Nitin invested some money in a business
in the ratio 8 : 3, but Suhas withdraw his money after
a few months. If at the end of twelve months' profit
was shared by Suhas and Nitin in the ratio 5 : 4, for
how many months did Nitin invest alone?

(a)
5

5
8

(b)
3

6
8

(c)
3

5
8

(d)
5

6
8

12. A, B C 7:8:4

A, 5800

B, 4600

8:5:6 A

Three persons A, B and C enter into a partnership by
investing in the ratio of 7:8:4 respectively. After one
year A invest 5800  more and B withdraws 4600.
Now, the ratio of investment changes to 8 : 5 : 6.
Approximately how much A invested initially? (in )

(a) 13882.75 (b) 15882.75

(c) 14882.75 (d) 12882.75

13. 4

Janavi's age is 4 times that of Janani. Ten years
from now, Janvi will be twice as old as Janani. Find
the present age of Janvi.

(a) 12 (b) 20 

(c) 16 (d) 24  

14. 50 p, 25 p 20 p

4 : 3 : 2 25 p

A bag contains Rs. 441 in the form of 50 p, 25 p
and 20 p coins in the ratio 4 : 3 : 2. Find the
number of coins of 25 p.

(a) 400 (b) 240

(c) 460 (d) 420

15.

Two vessels containing 35 litres and 47 litres quantity
of solution, have milk and water in the ratio of 17 :
18 and 28 : 19 respectively. If the solutions a many
litres of water has to be added in the final solution to
make the resulting solution in the ratio 1 : 1 ?

(a) 10 (b) 12 

(c) 8 (d) 6 

16.

A mixture of milk and water contains 18 parts of
milk and 8 parts of water. How much fraction of the
mixture should be removed and replaced by water
so the ratio of water and milk are equal?

(a)
1

18
(b)

12
18

(c)
10
18

(d)
5

18

17. n

n

n

If Tarun and Arun are removed, the average age of
a group of n people increases by 12 more. The total
age of two newcomers, Rohit and Mohit, is same as
that of Tarun and Arun. If Rohit and Mohit are
included in a group of n people, then the average
age becomes 4 less. Find n?

(a) 6 (b) 2

(c) 5 (d) 4
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18. 34x, 197, 6x4

(3x + 1) (7x – 2)

The average of four three digit numbers 34x, 197, 6x4
and 348 is 386. What will be the average of (3x + 1)

and (7x – 2)?

(a) 24.5 (b) 26

(c) 23 (d) 25.5

19. A B

A

B

B

A and B take 25 and 45 days respectively to
complete a task. A started working alone and after
a few days B started working together. The work
took a total of 20 days to complete. After how many
days did B start working?

(a) 10 (b) 11

(c) 12 (d) 9

20.

Sonu can complete a work in the same amount of
time as Monu and Raj together can complete that
work. If Raj alone can complete the work in 30 days
and Sonu and Monu together can complete the
work in 15 days, then in how many days can Monu
alone complete the work?

(a) 42 (b) 60 

(c) 58 (d) 45 

21. A B

C

Pipe A can fill a tank in 105 minutes, Pipe B can
fill the same tank in 63 minutes and Pipe C  can
empty the same tank in 42 minutes. If all three
pipes opened together. How many minutes will it
take to fill the empty tank?

(a) 610 (b) 630

(c) 670 (d) 650

22. 5 : 8 : 2 P Q

Q

Kavita, Savita and Babita are walking from P to Q
at the speed of 5 : 8 : 2. The ratio of time taken
by all to reach Q will be?

(a) 5 : 8 : 20 (b) 8 : 5 : 20

(c) 20 : 8 : 5 (d) 8 : 20 : 8

23.

Two trains running in opposite directions cross a
man standing on a platform in 54 seconds and 1.5
minutes respectively. If they cross each other in
74 seconds, what will be the ratio of their speeds?

(a) 4 : 03 (b) 4 : 5

(c) 3 : 04 (d) 1 : 1

24.

A person leaves his house walking at 4 km/h to his
office and returns at 2 km/h. If it takes him 6 hours
to come and go, what is the distance between his
home and office?

(a) 8km (b) 6km

(c) 8.5km (d) 4 km

25. A B

A, B

Two trains A and B of equal length are running on
parallel tracks in the same direction at 64.8 km/h
and 50.4 km/h respectively. Train A crosses train
B in one minute. Find the length (in metres) of each
train.

(a) 125 (b) 100

(c) 120 (d) 150

26. A B

A B

A can run 1 km in 4 min, and B can cover the same
distance in 4 min 10 sec. By what distance can A
beat B in a 1 km race?

(a) 45 m/ (b) 40 m/

(c) 35 m/ (d) 30 m/

27.

The ratio of time taken by the boat to cover a certain
distance upstream and downstream is
4 : 1. Find the ratio of speed of boat downstream and
upstream.

(a) 4 : 1 (b) 3 : 5

(c) 1 : 4 (d) 5 : 3
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28.

In an examination, a candidate gets 5 marks for every
correct answer and 2 marks are deducted for every
wrong answer, if he gets 285 marks by answering 120
questions, how many questions did he answer
correctly?
(a) 60 (b) 65
(c) 75 (d) 85

29.

Which of the given pairs form a co-prime numbers

pair?
(a) (21, 42) (b) (9, 63)
(c) (36, 15) (d) (11, 21)

30.

Find the least number, which is exactly divisible

by 8, 24 and 30.
(a) 150 (b) 60
(c) 130 (d) 120

31. P = 
3
5

2
7

Q = 
15
31

P × Q 

If P is the sum of 
3
5

 and 
2
7

, Q = 
15
31

, then Find

the value of P × Q.

(a)
7
4

(b)
2
7

(c)
3
7

(d)
3
4

32.
 
 
 

1
1 –

2  
 
 
 

1
1 –

3  
 
 
 

1
1 –

4  ..... 
 
 
 

1
1 –

23  

_______
The result obtained on

simplification of 
 
 
 

1
1 –

2  
 
 
 

1
1 –

3
 
 
 

1
1 –

4  ..... 
 
 
 

1
1 –

23

will be _______.

(a)
1
23

(b)
1
22

(c)
1
3

(d)
1
2

33.

Find the ratio of the diagonal of a square of side
15 cm long to its side.

(a) 2 : 3 (b) 2 : 3

(c) 1: 2 (d) 2 :1

(34–35): 

20

Directions (34–35) : The pie chart given here shows
the expenditure of a country on various sports
activities during a particular year. Study the
diagram and answer the question. The total amount
spent on sports during the year is Rs 20 lakh.

Shooting

40°

Archery

60°

Boxing

50°

Chess
45°Discus

throw

40°

Gymnastics

70°

Ice Hockey
55°

34. 90

If the total amount spent on sports during the year
is Rs 90 lakh and the percentage of distribution
among different categories remains the same, then
the amount spent on archery is more than that
of shooting by............

(a) Rs.500,000 (c) Rs.300,000

(b) Rs.600,000 (d) Rs.400,000

35.

What is the ratio between the amount spent on
Discus throw and Gymnastics together and the
amount spent on Ice hockey and Chess together?

(a) 13 : 12 (b) 10 : 11

(c) 11 : 10 (d) 12 : 13
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1.(d) 2.(a) 3.(d) 4.(c) 5.(a) 6.(a) 7.(b) 8.(b) 9.(d) 10.(b)

11.(b) 12.(b) 13.(b) 14.(d) 15.(c) 16.(d) 17.(d) 18.(a) 19.(b) 20.(b)

21.(b) 22.(b) 23.(b) 24.(a) 25.(c) 26.(b) 27.(c) 28.(c) 29.(d) 30.(d)

31. (c) 32.(a) 33.(d) 34.(a) 35.(c)

ANSWER KEY
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SOLUTIONSSOLUTIONS

1. (d)

= 7500

7500

6000

3300 2700

55% 45%

80%

2. (a)

12.5% = 
1

8
, 8% = 

2

25

 8      :     9

25     :   23

200    :   207

II 
I 

,

200  3200

1   16

207  207 × 16
= 3312

3. (d)

110
1450 1450

100
1595

90
1595 1595

100
1435.5









= 
1450 –1435.5

1450
× 100 = 1%

4. (c)

=

1 1 1 1
20% 25% 10% 5%

4 4 4 4
      

=  1
20 25 10 5 %

4
  

= 
50

% 12.5%
4



5. (a)

 (S.P.) = 2400,

= 20%, = 20%

 (C.P.) = 
2400

120
× 100

=  2000

 (M.P.) = 
2400

80
× 100 =  3000

 = 3000 – 2000 = 1000

% = 
1000

2000
× 100 = 50%

6. (a)

 = 4250 

= 4250 – 250 =

4000 

% = 8%  5%

= 4000 ×
23 19

25 20


= 8 × 23 × 19 = 184 × 19

= 3496 

7. (b)

= Rs 68500, = 5%

= 28 

= 28 × (5%) = 140%

= 100% + 140% = 240%

3

4

= 
3 1

1 –
4 4


 = 240 ×
1

60%
4


 

60
68500 Rs 41100

100
  

SMART APPROACH:- 

 = ( × )%
28 × 5 = 140%

= 
240 1

68500 × 41100
100 4

 
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8. (b)

= 
P × R × T

100

5832 = 
7200 R R

100

 

2R  = 
5832

72
 = 81

(R) = 9%

9. (d)

= 
D

100
P



28
100

P
4  

28

P

1

25
 

28

P

1

625


 P = 28 × 625 = 17500

10. (b)

R ( ) = 5% 1  1600

R ( ) = 
5

%
2

1   1600

,

C.I = 
5

200
 × 1600 + 

5

200
 × 3200 + 

5

200
 × 40

= 40 + 80 +1 = 121 .

11. (b)

x 

:

8 × x : 3 × 12 = 5 : 4

8 5

3 12 4




x

x = 
5 3 12 45

8 4 8

 



 

45

8

 
45 3

12 6
8 8

  
    

12. (b)

A 7 5800 8

B 8 4600 5

x

x


 


35x + 29000 = 64x – 36800
29x = 65800
x = 2268.96

A = 7x

= 7 × 2268.96 = 15882.75

13. (b)

4 1

10 (2 1)

6 3

×3 +2

:

:

:

:

2   10 .

   1  5 .

 = 4   20 
14. (d)

 = 4 : 3 : 2

= 
1 1 1

4 3 2
2 4 5
     = 

63

20


63

20
 = 441

1 = 140

25  = 140 × 3  = 420
15. (c)

35 l 47 l

MM WW

17   :   18 2    :   198
 = 17 + 28 = 45

x

45

37  x
= 

1

1
x = 8

8 

16. (d)

 18    8  26

 13      :   13  26

 = 
5

18

17. (d)

(n – 2) × 12 = (n + 2) × 4
12n – 24 = 4n + 8
8n = 32
    n = 4

18. (a)
34x + 197 + 6x4 + 348 = 386 × 4
= 1544

34x
197
6 4x
348

1544

5

(3x + 1) (7x – 2) 
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=
   3×5+1 + 7×5 – 2

2

 = 
49

2
 = 24.5

SMART APPROACH:- 

, 
34 , 197, 6 4, 348 = 386x x

7 4 8
6

4

x   


19 +  = 4x

3  + 1 7  – 2 =x x
x = 5

(3 5 1) (7 5 – 2)

2

   

16 33
24.5

2




19. (b)

25 45 = 225

A  25

B 45
225

9

5

 A 

, A 20 = 20 × 9 = 180

B 

= 
225 –180 45

=
5 5

= 9 

 B, 9 

 B (20 – 9) = 11
20. (b)

30

15

1

2

30





 – 

= 1( )

 +  = 2

  2( ) = 2 – 1

 = 
1

2

= 
30
1
2

 = 60 

21. (b)

105, 63, 42 = 630

 

630
6

6

–15
10

A B C
105 63 – 42

 = 
630

A B ( C)  

630

6 10 15


 
630

1
 = 630 

22. (b)

1 1 1
: :

5 8 2

5, 8 2 = 40

Q 

1 1 1
40 : 40 : 40

5 8 2
   

= 8 : 5 : 20

23. (b)

S
1
 S

2

L
1

L
2

L
1
 = 54 S

1
,  L

2
 = 90 S

2

,

1 2

1 2

54S 90S

S S


 = 74

16S
2
 = 20S

1

1

2

S 8 4

S 10 5
  

 

SMART APPROACH:- 

54 90

74

16 : 20

4 : 5

24. (a)

 = 
1 2

1 2

S S
T

S S




  = 
4 2

6
4 2






= 8 
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25. (c)
x

S
1
 = 64.8 / , S

2
 = 50.4 /

 = 1  = 60 
,

2x = (S
1
 – S

2
) × t

2x = (64.8 – 50.4) × 60 × 
5

18

2x = 14.4 × 60 × 
5

18

2x = 240
x = 120 .

26. (b)

 A, B 10

10 B  = 
1000

250
10  = 40 .

1 A, B 40 .

27. (c)

 = 



1

4      :      1

1      :      4




28. (c)

x y 

5 × x – 2 × y = 285

5x – 2y = 285 ... (i)

x + y = 120

2x + 2y = 240 ... (ii)

(i) (ii) 

2 2y 240

5 – 2y 285

7 525

75

 







x

x

x

x

SMART APPROACH:- 

 = 120 × 5 = 600

= 285

600 285 315
45

7 7


  

=120 – 45 = 75

29. (d)

(11, 21) 

30. (d)

8, 24 30  = 120

31. (c)

,

P = 
3 2

5 7
 , Q = 

15

31

,

P = 
21 10

35


 =  

31

35

,

P × Q = 
31

35
 × 

15

31
  = 

3

7

32. (a)

1
1–

2
 
 
 

 
1

1–
3

 
 
 

1
1–

4
 
 
 

 ----- 
1

1–
23

 
 
 

1

2
 × 

2

3
 × 

3

4
 × ----- 

22

23
 = 

1

23

33. (d)

 15  
 1

5  2

 = 
15 2

15
 = 

2

1

34. (a)

= 60°

= 40°

= 60° – 40° = 20°

360° = 9000000

20° = 
9000000

20
360

  =  500000

35. (c)

 

= 
40 70 110

55 45 100




  
11

10

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Aditya Ranjan Sir

1.

What will be 25% of Rs 10?
(a) Rs. 2.90 (b) Rs. 2.80
(c) Rs. 3.80 (d) Rs. 2.50

2.

Pinky fills her car tank with 20 liters of petrol.
She goes on a journey and end up with just 5.5
liters of petrol left in the tank. What is the percent
change in the petrol in the tank?
(a) 14.5 percent (b) 72.5 percent
(c) 5.5 percent (d) 85.5 percent

3.

A trader makes a profit of 5% by selling his goods.
What will be the percentage of his profit if both his
cost price and selling price increase by 20%?
(a) 5% (b) 8%
(c) 6% (d) 10%

4.

A rim of 500 pages is bought for 280, and packets
of 25 pages are made from it. Each packet is sold
for 18. Find the percentage profit or loss. (Rounded
off up to one decimal place).
(a) 24.6% loss (b) 28.6 profit %
(c) 26.5 profit % (d) 24.5 profit %

5. 20%

10%

56

A shopkeeper allows a discount of 20% on his
advertised price and still makes a profit of 10%.
If he makes a profit of Rs. 56 on an article, what
will be its adver-tised price?
(a) Rs. 770 (b) Rs. 810
(c) Rs. 650 (d) Rs. 600

6.

x%

'x'

A shopkeeper earns a profit of 8% after offering a 15%
discount on the marked price. To clear the stock, the
shopkeeper offers a successive discount of x% and
earns no profit or loss. What is the value (approximate)
of 'x'?
(a) 7.8 (b) 7.6
(c) 7.4 (d) 8.0

7.

Borrowed by Dhoni  800, in 3 years at a certain
rate of simple interest become  956, then in 3
years. What will be the amount of  800 if the rate
of interest is increased by 4%?
(a)  1152 (b)  1252
(c)  1352 (d)  1052

8.

The difference between the simple interest received
in 5 years on an amount of Rs. 1,625 from two
different sources is Rs. 32.50. Find the difference
between their interest rates.
(a) 0.6% (b) 0.5%
(c) 0.3% (d) 0.4%

9.  8000 6% 

What is the difference between the compound
interests on  8000 for a 1 year at 6% per annum
compounded yearly and half-yearly? (in )
(a) 7.2 (b) 9.2
(c) 8.2 (d) 6.2

10. A B

A B

Divide Rs. 5,309 between A and B, so that the amount
of A after 4 years is equal to the amount of B after 6
years, the interest being compounded at 6% per
annum, compounding annually
(a) Rs. 2,809, Rs. 2,500
(b) Rs. 2,759, Rs. 2,550
(c) Rs. 2,659, Rs. 2,650
(d) Rs. 2,709, Rs. 2,600
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11.

Kiran and Sushma began business with Rs.3000 and
Rs.4000 after 8 months, Kiran withdraws Rs.1000
and Sushma advances Rs.1000 more. At the end of
the year, their profit amounts to Rs.630 find the

share of Kiran?
(a) Rs. 240 (b) Rs. 75
(c) Rs. 125 (d) Rs. 354

12.

Manoj and Naveen started a partnership business
investing some amount in the ratio of
5 : 6. Sekhar joined them after six months with an
amount was to that of Naveen. In what proportion should
the profit at the end of one year be distributed among
Manoj, Naveen and Sekhar?
(a) 5 :  6 : 3 (b) 6 : 3 : 5
(c) 6 : 5 : 3 (d) 5 : 3 : 6

13. 6500

4

A sum of Rs 6500 is to be shared among three
persons in such a way that 4 times the share of
the first person, thrice the share of the second
person, and twice the share of the third person,
becomes equal to one. What will be the third

person's share?
(a) Rs. 3000 (b) Rs. 1800
(c) Rs. 5200 (d) Rs. 3600

14. 3 : 2 : 5

If three numbers are in the ratio of 3 : 2 : 5 and
the sum of their squares is 8550. Find the sum of

those numbers.
(a) 225 (b) 72
(c) 172 (d) 150

15.

A man buys spirit at  60 per litre, mixes it with
water and then sells it at Rs 75 per litre. If his profit
in this transaction is 37.5 percent, then what
should be the ratio of spirit to water?
(a) 11 : 1 (b) 9 : 1
(c) 12 : 5 (d) 10 : 1

16.

Two containers with equal capacity have milk and
water in the ratio of 3 : 4 and 3 : 1 respectively. If
both the containers are emptied into a bigger
container having the capacity to contain the whole
mixture, then what is the ratio of milk to water in
the bigger container?
(a) 32 : 31 (b) 23 : 11
(c) 33 : 21 (d) 33 : 23

17.

The average weight of a family of 18 persons becomes
less than 1 kg when the weight of one child is added
to it. If the average weight of the family after
including the weight of the child is 19 kg, then what
will be the weight of the child?

(a) 19 (b) 1 

(c)  2 (d) 3 

18. A, B, C, D, E F

A, B, C, D E B, C, D,

E F A F

Out of six numbers A, B, C, D, E and F, the average
of first five numbers A, B, C, D and E is 26 more than
the average of last five numbers B, C, D, E and F.

Find the difference between A and F.
(a) 125 (b) 140
(c) 120 (d) 130

19.

Ajay and Vijay can do a work In 70 and 60 days
respectively. They start working together and after
some time, Ajay leaves. Vijay completed the
remaining work in 47 days, when did Ajay quit the
work?
(a) After 7 days
(b) After 144 days
(c) After 10 days
(d) After 8 days

20.

In an army camp, there were provisions for 425
men for 30 days. However, 375 men attended the
camp. How long did the provisions last?
(a) 30 days (b) 35 days
(c) 34 days (d) 32 days
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21. A, B,

C,

Pipe A can fill a tank in 155 minutes, Pipe B can fill
the same tank in 93 minutes and Pipe C can empty the
same tank in 62 minutes. If all three pipes are opened
together, how many minutes will it take to fill the empty
tank?
(a) 930 (b) 940
(c) 920 (d) 950

22.

Franklin completes the first lap of the Race at 550
mph and the second lap of the race completes at
825 miles per hour. find the average speed of both
laps. (mph-miles per hour)
(a) 660 (b) 665
(c) 670 (d) 675

 23.

A car covered 240 km in 5 h. If it travels with half of
its usual speed, then how much more time will be
taken to cover the same distance?
(a) 3 h. (b) 5 h.
(c) 10 h. (d) 4 h.

24.

A 180 m long train running at a uniform speed of
92 km/h crosses another train running in the same
direction with a uniform speed of 75 km/h in 60
seconds. Find the length of the second train.
(a) 120 m (b) 150 m
(c) 160 m (d) 140m

25. A B

A B

A can run 1 km in 4 min, and B can cover the same
distance in 4 min 10 sec. By what distance can A
beat B in a 1 km race?

(a) 45 m/ (b) 40 m/

(c) 35 m/ (d) 30 m/

26.

The speed of a boat in still water is 30 km/h and the
speed of the current is 6 km/h. The distance (in km)
travelled upstream in 5 minutes is:
(a) 3 (b) 4
(c) 2 (d) 2.5

27. N5921,

N
If N5921 is divisible by 11, find the value of
smallest natural number N.
(a) 9 (b) 7
(c) 6 (d) 8

28. 42971K2

K

If a seven-digit number 42971K2 is divisible by
44, then the value of K is:
(a) 4 (b) 7
(c) 3 (d) 4

29. (LCM)

(HCF)

Find the ratio of the LCM of the first four prime
numbers to the HCF of the first three prime
numbers.
(a) 26 : 1 (b) 210 : 1
(c) 6 : 1 (d) 168 : 1

30.
        
                            

1 1 1 1 1 1
1 – 1 – 1 – 1– .... 1 – 1 –

3 4 5 6 99 100

(a)
2
99

(b)
1
25

(c)
1
50

(d)
1

100

31. [52 – 4 of (17 – 12) + 4 × 7] ÷ [30 ÷ 15 × 5]?

What is the value of [52 – 4 of (17 – 12) + 4 × 7] ÷
[30 ÷ 15 × 5]?
(a) 8 (b) 10
(c) 6 (d) 12

32.

16 m, 14 m and 10 m are the dimensions of a room.
Find the length of the greatest possible scale to
measure all dimensions exactly.
(a) 3 

(b) 4 

(c) 2 

(d) 10 

33.

(
22

7
  )

The circumference of a circle of diameter 14 cm
is equal to the perimeter of a square. Find the area

of that square. ( 
22

7
  )

(a) 400 cm2

(b) 121 cm2

(c) 256 cm2

(d) 289 cm2
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(34 – 35):

Directions: Refer to the given diagram to answer
the following questions.

Regional outlay

1991 Total outlay =  2,00,000

1992 Total outlay = 2,50,000

 

10%

15%

15%

25%

30%

15%

10%
15%

10%

50%

34.

ANSWER KEY
1.(d) 2.(b) 3.(a) 4.(b) 5.(c) 6.(c) 7.(d) 8.(d) 9.(a) 10.(a)

11.(a) 12.(a) 13.(a) 14.(d) 15.(d) 16.(d) 17.(b) 18.(d) 19.(a) 20.(c)

21.(a) 22.(a) 23.(b) 24.(a) 25.(b) 26.(c) 27.(d) 28.(b) 29.(b) 30.(c)

31.(c) 32.(c) 33.(b) 34.(d) 35.(a)

What are the two sectors where the allocation to rural
development and other sectors is equal and the sum
of which is more than 25% but less than 50% of the

total allocation in the year?

(a)

Medical and Education

(b)

Agriculture and Industrial

(c)

Medical and Industrial

(d)

Agriculture and Medicine

35.

For the sector registering maximum percentage increase
in allocation over the previous year, what will be the

difference between the outlays for the two years?
(a)  65,000 (b)  40,000
(c)  50,000 (d)  5,000
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1. (d)

25
10

100
 = Rs 2.5

2. (b)

= 
20 5.5

100
20




= 14.5 × 5 = 72.5%

3. (a)

100 105

120 126

% = 
126 –120

120
× 100 = 5%

4. (b)

C.P = 280 

 S.P = 
500

18
25

 = 360 

 % = 
360 280

100
280




= 
80

×100
280

 = 28.6

5. (a)

 (M.P.) = 100

,

800
100 80

11

+56

 = 80 – 
800

11
= 

80

11
   56

 (M.P.) = 100  
56

80
 × 11 × 100 =  770

6. (c)

  = 100 ,  = 85

 × 
108

100
 = 85

=
8500

108

 : ( )

SOLUTIONSSOLUTIONS

8500

108
 :   85

100     :   108
 25      :    27

%  = 
27 – 25

27
 × 100%

= 
200

27
%  7.4%

7. (d)

 = 956 – 800 = 156

100

 


 156 = 
800 3

100

 
 R = 6.5%

R' = 10.5%

= 
800 3 10.5

100

 
= 252

= 800 + 252 = 1052

%
= 3 × 4% = 12%

12
800 96

100
 

= 956 + 96 
= 1052

8. (d)

1 21625 5 (R –R )

100

 
 = 32.5

1 2(R –R )  = 
3250

1625 5  = 0.4%

9. (a)

=  8000

= 6%

 =
6

% 3%
2



6 – 6 2  

= 3 + 3 +
3 3

6.09%
100




 = 6.09% – 6 = 0.09%

= 
0.09

8000 7 .2
100

 
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10. (a)

R = 6% = 
3

50

A 53

B 50


= 
2 80953

250050

  
   
 

A = 2809 .,     B = 2500 .

Square

11. (a)
   K      S

8         3,000  :   4,000 = 3 : 4

4   2,000  :   5,000 = 2 : 5

= 24 + 8 = 32

= 32 + 20 = 52

     32        52
                     8     :     13

21   630

 8  240
12. (a) M : N : S

5 : 6 : 6 = 

×12 ×12 ×6 =

60 : 72 : 36 =

 = 5 : 6 : 3
13. (a)

A B C

4 3 2

3 : 4 : 6

x y z 

,

 = 3 + 4 + 6

= 13  6500

  1   500

= 6   3000
14. (d)

3 : 2 : 5 = 3n : 2n : 5n
29n  + 24n + 225n  = 8550

238n  = 8550
2n  = 225

n = 15
 = 10n

= 10 × 15 = 150
15. (d)

= 37.5% = 
3

8




= + 

  = 8 + 3 = 11

  = 
75

11
× 8 = 54.54 

60 0

54.54

54.54 5.45
10 : 1

    

x : y 
60 x + y × 0 = 54.54 ( x + y)
5.45 x = 54.54y

10

1

x

y
 

16. (d)

I 3×4

II 3×7 1×7

4×4

12 16

21 7

:

:

:

:

4

7

(21 + 12) : (16 +7)

33 : 23

×4

×7

17. (b)

= 19 – (1 × 18) = 19 – 18

= 1 

18. (d)

      
A B C D E

5

   
– 

B C D E F

5

   
 = 26

A B C D E – B – C – D – E – F

5

   
 = 26

 A – F = 26 × 5 = 130
19. (a)

70 60  = 420

 60
420

7

 70 6

 

, 47  = 47 × 7 = 329

=  
420 – 329 91

6 7 13


 = 7 

 7 
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20. (c)

1 1 1

1

M D T

W =
2 2 2

2

M D T

W

,

425 × 30 = 375 × D
2

D
2
 = 34 

21. (a)

155, 93, 62  = 930

930

–CA
–62155

B
93

6
10

–15

=

= 
930

6 10 –15  = 
930

1
 = 930 

22. (a)

S
1

=

S
2

=

1 1

1 2

2S S

(S S )




(2 550 825)
 

(550 825)

 




907500
 

1375
  660 

23. (b)

 = 
240

5
 = 48 

,

 = 
240

24

= 10

 = 10 – 5 = 5 

24. (a)
S

1
 = 92 / , S

2

= 75 /
T

1
 = 180  T

2

= x .
(t) = 60 .


 = S

1
 ~ S

2

 = 92 – 74

(180 )

60

 x
 = 18 × 

5

18
/

180

60

 x
=  5

 180 + x = 300

x = 120 

25. (b)

 A, B 10 .

10 . B  = 
1000

250
10  = 40 .

1 A, B 40 .

26. (c)

= 30 – 6

= 24 /

= =
5

24 2
60

27. (d)

0N 59 21

(0 – N) + (5 – 9) + (2 – 1) = 0

– N – 4 + 1 = 0

– N – 3 = 0

N = – 3

N

 N

= 11 – 3 = 8

SMART APPROACH:- 
N  5  9  2   1

(N + 9 + 1) – (5 + 2) = 0 11

(N + 10) – 7 = 0 11 

 N + 3 = 0 11

N = 0 – 3 = – 3 
    N = 11 – 3 = 8
– 3

28. (b)

42971K2  4 × 11

(4 + 9 + 1 + 2) – (2 + 7 + K) = 0 or 11

16 – 9 – K = 0

 K = 7

 K = 7

29. (b)

2,3,5,7 

2,3,5  = 
210

1
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30. (c)

1 1 1 1 1 1
1 1 1 1 .... 1 1

3 4 5 6 99 100

        
                                 

2 3 4 5 98 99
....

3 4 5 6 99 100
      

= 
2 1

100 50


31. (c)

 52– 4of (17 –12) 4 7 

÷  30 15 5   = 60 ÷ 10 = 6

32. (c)

 (16, 14, 10) = 2 

= 2 

33. (b)

 = 14cm, r = 7

= 4a

 = a

4a = 2 × 
22

7
 × 7

a = 11 

= 112 = 121 2

34. (d)

(a)  + = 10% + 15% = 25%

(b)  +  = 20% + 15% > 30% = 

(c) +  = 25%

(d)  + = 20% + 10% = 30%.

35. (a)

1991  
30

100
× 200000

= 60000

1992 
50

100
× 250000

= 125000

 

= 125000 – 60000 =  65000

           BACK TO INDEX
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